nmitesSHFHISHIRA S

HEBEI HAILAN BEARING MANUFACTURE CO.,LTD

k. SAdEAIEEEAAE T ERX 054901
ADD: Hexi Town Industrial Park, Linxi County, Hebei,China

HE3E/TEL: 0086-319-8542274(Factory)
0086-319-8542291 (Factory)
0086-319-3725658(Factory)

fEE/FAX: 0086-319-8542290(Factory)

R 11t/Web: http://www.ok-bearing.com
E-mail: fkd.services @ ok—bearing.com

0086-635-2970300(Int'l Dept)
0086-635-2970399(Int'l Dept)
0086-311-66689635(Int'l Dept)
0086-635-2970355(Int'l Dept)

& IS 3 i

SMEkE T EEEh A T Al il 1E

nibhaEMEslisERIRAa o6l

HEBEI HAILAN BEARING MANUFACTURE CO.,LTD



...........

= ik
aEl BT

WAL EHASIERRAR ([EMEHEHMAGRAR, GIET19884F ) 2HE™
ERA. RMRFEHINREHEMASET MEOBZ—, A& Z2/miRET
kEEREFERAeL, CFhEMAZ S, G, HEBECERE, XEBEMN, 2FBAT
SNERTET A AR AN B JEA AR EE TR & . £ R A

NRAIMERTIS00ERAN, FXIEFARAAS0E AN, A7 HH#100000FEHXK, -
BEF H#650005 F Ak, MEREREHMWINKEMAESBRNL. BIIKRNLHN
ERGERIHAEETSL, ARRE “TFRERK, BEARKK, FEELE, RES
B, BARENL” METER, 7=, HwEHR, DAk, BERTTFHRES
KEAEI1900AE, F=am/ ZMATFEEEMEE. T LM, TENH. HENM. K
WA, FlAE. BRINES,

AT 2iE3ZIS09001: 2008 FIGB/T 19001-2008/F B E K RIANE, 4/7%
SHXAEHNENREHNERLZE, BIMLEEIXR00%, HAIEEH, KiIFE
F&, REEEGRERRE, AAXAERGRERREERE, MEHNSIETEMRR
UREEEFE, ArKAPRE#EERE"R, “FE. FKD. HHB” Z£ERKFINE
HIEEMARL R EIR. HENKEHREEEZE, EF0%MEEH OZHR68)ER
MiX, BERESEMNMEAHOEMMNS —, SHRZMEEMERR T KRB
AEER, EERN. IEITEANEHEMNENRS TS,

BEHAKXAES “HALE. BB, A1E. VR Bhdlxxil, BEUAAK, EA
5lEEW A, BURTIEIN, RERIER, ERECUVESH, AREERTIBES
B5BNN-AKHAPEIREE, HEEZRE!

IERMNERIR,. &1E. RIMIER FEF R EBHNFERAERNAEK!

EALE—, FTAE!

l
““l“llﬂ!

nmmm

El!‘l-.\‘ ‘
RIS N

P RE

Company profile

Hebei Hailan Bearing Manufacture Co.,Ltd (originally founded in 1988 as Xingtai Honghai Bearing
Manufacture Co.,Ltd) is one of the Chinese leading bearing manufacturers and exporters with the
largest outputs and the greatest varieties. It is the enterprise of well-known trademark and high
quality products of Hebei, located in the Bearing Hometown of LinXi county, HeBei Province, North
of China,. We devote ourselves to research & development, production, promotion and application
of pillow block bearing and other kinds of bearings .

There are over 500 employees, including more than 50 technicians and engineers in our group. With
the area of 100000sgm ( Plant 65000+ sgm ) , we have the most advanced pillow block bearing
automatic production line, automatic inspection line and the world's leading bearing housing pro—
duction line. Committing to the philosophy of “products differentiation , technology modernization,
manufacture professionalization, quality top grade, cost competition” , we have an annual production
of over 19000000 pcs of pillow blocks , deep groove ball bearings, taper roller bearings and other
kinds of bearings. Our products are widely used in various types of transmission equipment, mining
machinery, engineering machinery, textile machinery, agricultural machinery, forestry machinery,
construction machinery and so on .

Our company has approved by ISO9001: 2008 and GB / T 19001-2008 quality management
system certification. All of our production lines adopt the most advanced specialized equipment,
with a high automation level of 90%! Up to the international standards of technical quality, we adopt
the advanced manufacturing processes and modern technology and management tools to provide
customers with high quality products. Our three registered brand FE,FKD,HHB are well-known all
over the world. Over 90% of the products are exported to more than 68 countries and regions
around the world. As one of the Chinese earliest bearing—exported enterprises, we have built the
long—term strategic partnership with our customers, establishing the strong marketing network and
service platform in the domestic and over sea market.

With our corporate culture of "unity, assistance, cooperation and mutual benefits", HeBei Hailan
Bearing Manufacture Co.,Iltd adheres to the people—oriented philosophy , focuses on the recruit of
professionals, staff training, and enhances the competitiveness of the enterprise. All of us in the
company sincerely hope to cooperate with all the clients in good faith to promote the common
development !

Let’ s make progress together on the way of acquaintance, cooperation, success !

Strong commitment makes us professional!

|
"/

|

i l/uum




FKD

BEARING

ME ot

CHINA-HEBEI

&3 & ®

EESNTIBI A Ly ool
o 3k 17 It 2 hE 7= am

HWINE AL EZ IR

HINE A E HH A R

s Sweden
U‘Kf‘ % |
®) %j@@]

B2 Mioreseo
@)

B ENE Nigeite

B A4 — - A% 4k

Strong commitment makes us professional!

FKD

BEARING

ME - ot

CHINA-HEBEI

tIRE

MR R fiEHS
Al EH

firfe

BfS. B, BR. BIH v
= Z o =~ o %
s, &£, =X B3 ) COOBET I X :
) Z3 ¢ Bl & G
= )
: i ‘ QUALITY MANAGEMENT SYSTEM
VE 3 f;ﬁf % :ﬁ:ﬂf & F CERTIFICATE
AI ﬂk@% T

E—REM. STLESE |

ZEES
Arsshiz, €liE™m, 5l9ims

MERKEN\IEDWN

A WRIERRISSOK 100000

et

SHFBE e
iR TEIE

FaEs

B

O oy
= EPAmerical

@)
=P = VEXICE;

C)
Bl
Fo A Chile o

@

AR FiRzE Argenting

W
s




FKD

BEARING

ME -t

CHINA-HEBEI

FKD

BEARING

ME - ot

CHINA-HEBEI

PRODUCTION CHAPTER

| B ERAHETE,

—RREERE,

E5 A (NE RN Ik sk s % v s

IR AR E LK,
RAEBERAFESRE~REK, Advanced production technology,
We shall continue to upgrade the technology,speed up technical first—class production line.

innovation and adopt advanced technology to meet the standard
of high—-tech products.

S EFFEA

oHIE-FE S M TdT 2 H

Unremitting pursuing,
long—-lasting success.




FKD

BEARING

FKD

BEARING

ME - ot

CHINA-HEBEI

ME -k

CHINA-HEBEI

ﬂzfﬂ%

PRODUCTION CHAPTER

5t 4] A R BTG
Constant i'qnovation 1S our mission.




BEARING

FKD m&-imit

CHINA-HEBEI

EPx

Catalog
A ST Ao s i v o R s 1

BEARINGS AND HOUSINGS MATCHING TABLE

o A e e e B e e e 2

BEARING MATERIAL

%@iﬁiﬁﬁq%g ............................................... 2

BEARING UNITS PRECISION

o b P —— 7

HOUSING TOLERANCE

57[‘5*@?}5&17?(5'\]1‘&@%% .................................... 9
BEARING UNITS MAXIMUM SPEED

G Nl T R 10

LUBRICATION AND OPERATING TEMPERATURE OF BEARING UNITS

SETREE UCP200: v wwwererseesssmsssiininesesassiii 119
PILLOW BLOCKS

ﬁﬂ)ﬁ UCPXOQ rereerrrremremsemmeninii, 12
PILLOW BLOCKS

S\Z:—Et@ UCP300: - e eereeremreseaseneniiieiiiia, 13
PILLOW BLOCKS

7‘__1%3}?& UXEIE210]e000s0mm000sa000a0sa0a00m0saae0assasacn0aas: 14
FLANGE UNITS(SQUARE)

jj—ﬂ:g}éTé UIETE40]0) cosssoscsasasssasonscncsasanasaasaaaanssasasss 15
FLANGE UNITS(SQUARE)

Hﬁ?)?lé Ulei5e]0]0eoansosannnsoonansnaaanasoaaacansraaamoassas: 16
FLANGE UNITS(SQUARE)

%ﬁﬁﬁé LJCFL200: s+ e rernerernssernessansssunsnenusseenes 17
FLANGE UNITS(OVAL)

%ﬂé)’jﬁ UCFLXOO .......................................... 18
FLANGE UNITS(OVAL)

%ﬁ?}?{é UCFLB00: e eeeremrrrnsrnsiiiii, 19
FLANGE UNITS(OVAL)

IRIREE UCST200 UCTR00 e stsmmes o smmmrss seme 20
TAKE-UP UNITS(NORMAL-DUTY)

/%ik@ UCTR00 e eererremremrenrinsiniii. 21
TAKE-UP UNITS(NORMAL-DUTY)

éﬂé}f‘__}é UCFCZOO ................................... 22
FLANG CARTRIDGE UNITS

BT TUEE UCPH200 - vveeveeeeeveeeesnennnnn, 23
PILLOW BLOCKS(HIGH CENTER HEIGHT)

ST TEE UCPA20Q wweevvreeervreeenneeaininens 24
PILLOW BLOCKS(HIGH CENTER HEIGHT)

Ef'ﬁﬁ%ﬁ?@é UCFA20Q -evreererrerenraniini, 25
ADJUSTABLE FLANGE UNITS

FIFAB 75k @ B B 4 R e B T

%-}%i@ UCFB20(Q: - eereerererersrreminieimeienes 26
FLANGE BRACKET UNITS

B RREE UCHAD20Q --wwvveeeerveeeeireesieeen o7
SCREW CONVEYOR HANGER UNITS

}[\}%}E UCC200 e rerrereereseraieniiiiiiiniin, 28
CARTRIDGE UNITS

%@Eﬁfﬁ@@l‘f*@iﬂi% .............................. 29
BEARING UNITS WITH PRESSED HOUSING

%ﬁ;q] E%ﬁg@ﬂ\ﬂgﬁiﬂiﬁ .............................. 30
BEARING UNITS WITH PRESSED HOUSING (OVAL)
%ﬂ”iﬁ?@gl‘f*ﬁﬁﬂiﬁ .............................. 31
BEARING UNITS WITH PRESSED HOUSING ( CARTRIDGE )
B = PO T BE SRR oo 32
BEARING UNITS WITH PRESSED HOUSING ( TRIANGLE )

T TZZSNERTETBRGHIK UC200 +ooevvveeeseeeseeeoe 33
BALL BEARINGS(WITH SETSCREWS)

T TRZZSNERTETBRBHIK UCKOO0 -oovveevveerseeeeeneee 34
BALL BEARINGS(WITH SETSCREWS)
HTRLLINRTETERIIR UC300 -----wvooeveeeeeeeesss 35
BALL BEARINGS(WITH SETSCREWS)

RO EINKEERHIK HC200: -+ woevvveeeeoe 36
BALL BEARINGS(WITH ECCENTRIC LOCKING COLLER)

T B FLINREBRHHIRK UK200 - eoreereeee 37
BALL BEARINGS(WITH TAPERED BORE)

UL S FRRAIRGIK SER200:-++-++-evvvevvveeeve 38
BALL BEARINGS(WITH LOCATING SNAP RING)
%ﬁ/ﬁ\ﬁ};ﬁi&ﬁ ............................................. 39
BALL BEARINGS(WITH ECCENTRIC COLLAR)
%ﬁ[ﬁ\ﬁfﬁimﬁ ............................................. 40
BALL BEARINGS(WITH ECCENTRIC COLLAR)
%‘*Iﬁé_ﬁijkfﬁlﬂy? ................................................ 41
BALL BEARINGS(WITH SETSCREWS)

Z‘Z*ﬂﬁﬁ% .................................................... 42
AGRI-BEARING SQUARE BORE WITHOUT GREASE NIPPLE
751H<//QI*?FI§37? .................................................... 43
DEEP GROOVE BALL BEARING

iﬁ[ﬁ\i}é%éﬂiﬁ ................................................. 45
SPHERICAL ROLLER BEARING

;}Ejj }*5&37? .................................................... 46
THRUST BALL BEARING

%ﬁ/ﬁ%iﬂi% ................................................ 47

TAPERED ROLLER BEARING

HASEES

BEARINGS AND HOUSINGS MATCHING TABLE

ME ot

CHINA-HEBEI

FKD

BEARING

meI; FQELQ mdl | @3 pi:q
uc Uk NA SA SB
P ucP UKP NAP SAP SBP
— —
F UCF UKF NAF SAF SBF
a@EN;! UCFL UKFL NAFL SAFL SBFL
T ucT UKT NAT SAT SBT
(@[ Fc UCFC UKFC NAFC SAFC SBFC
. PH UCPH UKPH NAPH SAPH SBPH
PA UCPA UKPA NAPA SAPA SBPA
\e
HA UCHA UKHA NAHA
=
—> FB UCFB UKFB NAFB
Q) Fa UCFA UKFA NAFA
G ucc UKC NAC SAC SBC
LLP SALLP SBLLP
R (=)
@b LF SALF SBLF
1O SAFD SBFD
PP UCPP UKPP NAPP SAPP SBPP
= ==
O, PF UCPF UKPF NAPF SAPF SBPF
5©)9 PRL UCPFL UKPFL NAPFL SAPFL SBPFL
................................................................................. B %% — At www.ok-bearing.com

013



FKD

BEARING

A B :

BEARING MATERIAL

ME ot

CHINA-HEBEI

SRR A NG Cr1 5B 2 R 5 (%)

c Si Mn P S Cr
0.98~1.10 0.15~0.35 <0.50 <0.025 <0.025 1.30 ~ 1.60
R BEH IR -

HOUSING MATERIAL

HT200#4 /15144 (%)

FEEEE (mm) B/INLEDRE N/mm2 (kgf/mm?)
<8 200(20.4)
8~15 190(19.4)
15 ~30 170(17.3)
=30 160(16.3)
HT200894t. 2R 53 (%)
C Si Mn P S
32~35 1.5~2.0 0.6~0.9 <0.30 <0.10
HEeoEiR:
OTHER ACCESSORIES MATERIAL
FRiE 2 FR 7 &R 2R # &R
hERRELE A EL$RHE08—-GB/T 13237 EEHE 45#$W-GB/T 699
FEE TR, $MHR08—GB/T 13237 AN &4 £ HIF35CrMo—GB/T 3077
I %% $WHR08-GB/T 13237 b1 08L§H-GB/T 699
wOE 45#5W-GB/T 699 b} RIREERE
FMEK HAMGCr15—-GB/T 18254 NAERF 454#5R-GB/T 699

02 HHB #21 % & # /& 44 K % & 4 & &

T EERH AT

BEARING UNITS PRECISION

SR TE B AR
A A2 1) B

FKD

BEARING

MEl - ot

CHINA-HEBEI

SMREHI AR EEREIEABSSNE RN —NEE, ES -1 EREREABIIFNBIHE, WA TIEREREXT
KRS Far. BT, BE. IRFEEFTM,

[BEIAEFL SR T A A2 [ i PR

RADIAL CLEARANCE OF BEARING UNITS ( CYLINDRICAL BORE )

pm
2TRAE d mm Co4H HARHE (o7t Cs#
Fzbu) Ed| min. max. min. max. min. max. min. max.
10 18 3 18 10 25 18 33 25 45
18 24 5 20 12 28 20 36 28 48
24 30 5 20 12 28 23 41 30 53
30 40 6 20 13 33 28 46 40 64
40 50 6 23 14 36 30 51 45 73
50 65 8 28 18 43 38 61 55 90
65 80 10 30 20 51 46 71 65 105
80 100 12 36 24 58 53 84 75 120
100 120 15 44 28 66 61 97 90 140
120 140 18 48 33 81 71 114 105 160
B HEFL SN K ET 7 12 [m) e PR
RADIAL CLEARANCE OF BEARING UNITS ( TAPERED BORE ) um
NFRAE d mm CoA EARHE C44H
it ]| min. max. min. max. min. max.
10 18 10 25 18 33 25 45
18 24 12 28 20 36 28 48
24 30 12 28 23 41 30 53
30 40 13 33 28 46 40 64
40 50 14 36 30 51 45 3
50 65 18 43 38 61 55 90
65 80 20 51 46 71 65 105
80 100 24 58 53 84 75 120
100 120 28 66 61 97 90 140
120 140 33 81 71 114 105 160
i HATATRUENNEREERR, ZEERESRN E—MEEHE,
................................................................................. B %% — At www.ok-bearing.com 03>



FKD

BEARING

ME ot

CHINA-HEBEI

ARTFEH TR EFEREER

MODIFICATION VALUE RADIAL CLEARANCE ( IN LOAD CONDITION )

pm
AFHEAE d mm ME G T FEERIEER
i ]| N Co4a HARA Ca4l. Csé
10 18 25 4 4 5
18 30 50 5 5 6
30 50 50 4 4 5
50 80 100 6 7 7
80 100 150 8 8 9
HhASNEIFE
OUTER RING PRECISION
SNEINZE um
UCE! UKZ D(mm) ADmp Ke Kea
it | max. min. max. | max.
30 50 0 =11 15 20
50 80 0 -13 19 25
80 120 0 -15 26 35
— 120 150 0 -18 30 40
150 180 0 -25 34 45
180 250 0 -30 38 50
250 315 0 -35 60
HhA R BFEE
INNER RING PRECISION
BiFEFLNEAZE
INNER RING TOLERANCE ( CYLINDRICAL BORE ) um
AFAED mm e cs ABs,Cs Ki Kia
Admp Vdp Admp Vdp
i | max. min. max. max. min. max. min. [ min. | max. | max.
10 18 +15 0 10 0 -8 6 0 -120 11 12
18 30 +18 0 12 0 -10 8 0 -120 11 15
30 50 +21 0 14 0 -12 9 0 -120 13 18
50 80 +24 0 16 0 -15 11 0 -150 16 22
80 120 +28 0 19 - - - 0 -200 20 28
120 180 +33 0 22 - - - 0 -250 - 35

<04

HHDB # % & # G 4K % 4 #] & &

MEl ot

CHINA-HEBEI

FKD

BEARING

1 B#EFLABAE
i INNER RING TOLERANCE ( TAPERED BORE )
! pm
o l
~ | mm Admp Adimp- Admp Vdp
i Bt 2 max. min. max. min. max.
2ol 18 30 +33 0 +21 0 i3,
Pend 30 50 +39 0 +25 0 15
|
i 50 80 +46 0 +30 0 19
: |
m ] \ 80 120 +54 0 +35 0 25
T | 120 180 +63 0 +40 0 31
| |
l I‘A(Hmnzvndmg
poll+ Adlmp
HAENAE (BE)
HOUSING TOLERANCE ( PRECISION )
HAENKEEZREAE
INNER SPHERICAL SURFACE OF HOUSING DIAMETER TOLERANCE um
HWEAH TEREJ TRERBEEK
D (mm)
Dim D1 Dim D1 Dim D1
it £l max. | min. max. min max. | min. max. min. max. min max. min
30 50 +25 0 +30 -5 +14 -11 +19 -16 +7 -18 +12 -23
50 80 +30 0 +36 -6 +18 -12 +24 -18 +9 =21 +15 -27
80 120 +35 0 +42 -7 +22 -13 +29 -20 +10 -25 +17 -32
120 180 +40 0 +48 -8 +26 -14 +34 22 +12 -28 +20 -36
180 250 +46 0 +55 -9 +30 -16 +39 -25 +13 -33 +22 -42
250 315 +52 0 +62 -10 +36 -16 +46 -26 +16 -36 +26 -46
S®Da
SRERILEAE
VERTICAL HOUSING CENTER HEIGHT TOLERANCE um
AR ERIK
R~TmE
RAERAR IR AYRWIREIRKS
203-210X05-X10 305-310 +150
211-218X11-X18 311-318 +200
- X20 319-318 + 300
................................................................................. @ ax+t— At www.ok-bearing.com 053



FKD

BEARING

ME ot

CHINA-HEBEI

LS [HTHD

06 FFDB #-# @ # g 46 & + 4 # & &

-S
(PF208)

(PF)

g EAHC)

EhMAKJBE/NZE  HOUSING TOLERANCE

MEl ot

CHINA-HEBEI

FKD

BEARING

Mm
WABHE | X SRR S ABRTRE A X y
F.FLFAFB (<) AA2 FC.FS FCZ.: FCX... FSS... (<) AA2 (<)

max.| min. | max.| min. {max.| min.

204l = [ = 204 | - | - _ =1 =71-=

205 | X05 | 305 205 [X05(305| 0 |-46| O |-46| 0O |[-46

206 | X06 | 306 206 | X06 | 306

207 | X07 | 307 | 700 +500 |207 | X07 | 307 0 |-54| 700 +500 200

208 | X08 | 308 208 | X08 | 308 | e 0 |-54

209 | X09 | 309 209 | X09 | 309

210 | X10| 310 210 [ X10 [ 310

211 | X11 | 311 211 [ X11 | 311 0 |-63

212 | X12| 312 212 | X12 | 312

213 | X13| 313 213 | X13 [ 313 0 |-63

214 | X14 | 314 214 [X14 (314 | 0 |-63

215 | X15| 315 215 | X15 | 315 o0

216 | X16 | 316 216 | X16 | 316 o | .75

217 | X16 | 317 217 | X16 | 317

218 | X18| 318 | 1000 | +800 [218 [X18|318| 0 |-72| O [-72 1000 +800
- | - | 319 - || = =
- | X20]| 320 - |-x20| 320
- | - | 321 - - | 321 0 |-81
— | = | 2z - | - [322] - | - 400
SRS o S (=N - | -

- | - | 326 - | - [326 0 |-89
SN R S = {F228
RIS R EERIF/AZE  CASTING HOUSING UNDECLARED TOLERANCE -
BYRS (KE) Rt A BYR (KE) —
@it <] Fezhuy ]|
- 120 +15 - - -
120 250 £2.0 - 10 +15
250 400 +3.0 10 18 +2.0
400 800 +4.0 18 30 +3.0
800 1600 +6.0 30 50 +35
MEEHAEE/NZE  PRESSED HOUSING TOLERANCE -
s RELER ——— e RHEALRST REAME
REAS REAS REX
PF203-208
PP203-208 +0.5 +0.4 PFL203-208 +0.2 0.4
PFT203-208
................................................................................. B A% — AXE www.ok—-bearing.com 07>



FKD

BEARING

ME ot

CHINA-HEBEI

|
T
| |
[ '
- |
| a
O A .
(T, TX) (C,CX)
EhR /N2 HOUSING TOLERANCE um
SMEATRRTEZE AH
= X = Y
’iﬂ!ﬁ@ﬁ'ﬁ‘? AA1 AHi %ﬁ@ﬂ? AA
T (<) c c2.. CX.. C3.. ()
max.| min. | max.| min. | max. | min
204 | - - 204 | - = - - - -
0 |-30
205 | X05 | 305 205 | X05 | 305 0 |-35
206 | X06 | 306 206 | X06 | 306
+200| O .
207 | X07 | 307 500 | 207 | X07 | 307 0 35 500 + 560
208 | x08 | 308 | O |~500 208 | x08 | 308 | 0 |-35
209 | X09 | 309 209 | X09 | 309
210 | X10 | 310 210 [ X10 | 310
211 | X11 | 311 211 | X11 | 311 0 | -40
0 |-40
212 | X12 | 312 212 [ X12 [ 312 | 0 | -40
213 | X13 | 313 213 - | 313
214 | X14 | 314 = - | 314
600 300
215 | X15 | 315 = - | 3815
216 | X16 | 316 = - | 316
217 | X17 | 317 = - | 317 _
+300| O L 0
= - | 318 = - | 318
0 |-800 +300
= - | 319 = - [ 819 _ _ _ ~
= = || ezp = - | 320
700
= - | 321 = - | 321 0 |-52
= - | 322 = - | 322
400
= - | 324 = - | 324
= - | 326 800 | - - | 326 0 |-57
_ - | 328 = - | 328

Z08

HHADB # % & # & #h K % 4 # & &

53R T S K B A PR 4% i3

B, #ASHRXARENRES, BNBEXATRAE, TEEERIIKEHASHE S, HAOBERANOLEAE,
HRIEITS2EFEEE X, £HA (h9/IT5) ¥Ro
CS200-2RS & 5 ek AR REEIE S

BEARING UNITS MAXIMUM SPEED

SERE AR RO 1R BRAG I T EEUR THIR TAERM £ R EZFR AN, ESHEER. MERE, HBEHREGH
BEVRR, MHASHORFESEEIATHENRIE, —RFRT, FMLENHROELINREHRERSH
XABEBRS, #OBEERNEQE; HHERE. RERN, BNBETERRSKhORLE; HRE, EHH

MEl - ot

CHINA-HEBEI

RIATRHAMRTEE Y, HRREESEZENRAT,
SMREHAERRE S THRREESEEMRAT.

SMIRTET AR PREEE ( S%1H )

BEARING UNITS MAXIMUM SPEED ( REF)

FKD

BEARING

r/min
200%%1 300%& 7%
d (mm) HEAE HMENE CS200-2RS
is7 h7 h8 h9 is7 h7 h8 h9
12 6700 5300 3800 1400 - - - - -
15 6700 5300 3800 1400 - - - - 11000
17 6700 5300 3800 1400 - - - - 10000
20 6000 4800 3400 1200 - - - - 9000
25 5600 4000 3000 1000 5000 3600 2600 900 8000
30 4500 3400 2400 850 4300 3000 2200 800 6700
35 4000 3000 2000 750 3800 2800 2000 700 6000
40 3600 2600 1900 670 3400 2400 1700 630 5600
45 3200 2400 1700 600 3000 2200 1500 560 5000
50 3000 2200 1600 560 2600 2000 1400 500 4800
55 2600 2000 1400 500 2400 1800 1300 450 -
60 2400 1800 1200 450 2200 1700 1100 430 -
65 2200 1700 1100 430 2000 1500 1100 400 -
70 2200 1600 1100 400 1900 1400 1000 360 -
75 2000 1500 1000 380 1800 1300 900 340 -
80 1900 1400 950 340 1700 1200 850 320 -
85 1800 1300 900 320 1600 1100 800 300 -
90 1700 1200 800 300 1500 1100 750 280 -
95 - - - - 1400 1000 700 260 -
100 - - - - 1300 950 670 240 -
105 - - - - 1200 900 630 220 -
110 - - - - 1200 800 600 200 -
120 - - - - 1100 750 530 190 -
130 - - - - 1000 670 480 180 -
140 - - - - 900 600 430 160 -
iE: h9/IT6—EEA FHREEEIMNKEMK, HRj7-ho&=E A FHEMLMREOEIKERHK,
................................................................................. B %% — At www.ok-bearing.com 09>



FKD

BEARING

ME ot

CHINA-HEBEI

i R A B B A TAEIR B

LUBRICATION AND OPERATING TEMPERATURE OF BEARING UNITS

T ARHARN, KEMEERIEMFAGB7324 (EEERE) MEM2S TWEER, HMERAFERE

X TR,

BB R F R

PHYSICAL AND CHEMICAL PERFORMANCE TABLE OF LUBRICATING GREASE

#ENE (1/10mm ) 265 ~ 295
W= (C) =175
10 ~ 25um AiBi$5000
M2 R 25 ~ 75um AiE8iE3000
(ANem?) 75 ~ 125um F#BE500
#Bit125um 0

TERE

— A TIEREAREE120C (SMEMEREAH100CT ) , SMKEKMABFETIEREETOC LR, Ha%

RAEERRERY, REHRRATBEET20C,

FKDU Rt E S TEREMER TERENFGEMA, WM200CLTHIHT208!, 300 CIA THIHT30E!, MUE

FET40CLL EHILT40%R!,

i B E

BEBRT, HRESFGEBEHATIENERR., BERREAEEHMHEUREERBED,
BiEERAPEEHRMAERE. TEREUEEBREMRE, BEBFRAMTSETR,

s BE & B B AR

BEARING UNITS RELUBRICATION TABLE

- BEARRN
R T RIS TERE (T) dnfE 7500001 T dnf&i&3t50000
<50 AEHER 1.54
N 50 ~ 70 14 6~124A
HETF 70 ~100 4~81H i
~100 2~ 4 EH 1~24EH
<50 1.54 6~124B
TR R 20~ 70 4-81H C
70 ~100 3~ 61 EH 2~41TEH
>100 1~20EH S1MEH
<70 1~24H 3~61EH
TR 70~100 2~ 41 EH 1-292H
>100 1~7% =Sk
INERFBEAKE 1~3% gX

dnfERHf2 (mm ) SRELEEE (%/5%h)

10 Arc

Ak @ SR E AT

Az

UCP 200 (normal-duty)

MEl ot

CHINA-HEBEI

FKD

BEARING

. Bi
Pillow Blocks
n
) . O ... -
i
|
S
I“”r“r“
:
&
i
b
b
e S o1z % _— .
T‘ﬁ'@ﬁhﬁ(’f&ﬁ Shaft Dia. &I\H:?Rﬂ— (%7'6) 'ﬁ% *:% Bearing Housing = =
Bearing Unit F Dimensions (mm) Bolt Used e No Weight
No. (in.) (mm) h a e b S. S, g W Bi n (mm) [Gin.) (kg>
UCP201 X B X R ; UCP201
; 30.: P ¢ : ¢ : 2 31. 2. 1o | 3/8 20 0.
i i 12 0.2 | 127 96 38 19 13 15 6 31,0 12.7 o | 3/ S0 P201 61
UCP202 . ) ) _ y ) o » UCP202 o ;
2210 |5/ 15 0.2 | 127 96 38 19 13 15 62 31.0 12.7 wio | 3/8 0910 P202 0.59
UCP203 ’ : ; - : ; g UCP203 .
30. ¢ p ¢ 38 ¢ : : 31. 2. 1o | 3/8 P203 X
. i 17 0.2 | 127 96 3 19 13 15 62 31.0 12.7 / el 0.58
UCP204 } . ) X ) _ . ) . . UCP204 . )
wem |lom 20 33.3 | 127 96 38 19 13 15 65 31.0 1227 | w0 | 3/8 i1 P204 0.61
UcP205-14 | 7/8 UCP205-14
20515 15/18 25 36.5 140 105 38 19 13 16 70 34.1 14.3 vio | 3/8 205515 P205 0. 69
205 205
205-16 1 205-16
UCP206-18 |1 1/8 UCP206-18
206 . 206 X
: 12, ) 4 p : 38. X wid | 1/2 P206 L1
e |0 30 2.9 | 165 121 18 21 17 18 83 38. 1 15.9 D010 3
206-20 1o1/4 206-20
UCP207-20 |1 1/4 UCP207-20
20721 |1 5/16 207-21
20722 |1 3/8 35 47.6 | 167 126 48 21 17 19 92 42.9 17.5 | mia | 172 207-22 P207 1.34
207 207
207-23 1 7/16 207-23
UCP208-24 |1 1/2 UCP208-24
20825 |1 9/16 10 19.2 | 184 136 54 21 17 19 98 9.2 19.0 | w4 | 1/2 208-25 P208 1.80
208 208
UCP209-26 1 5/8 UCP209-26
209-27 1 11/16 45 54.0 190 146 54 21 17 20 106 19. 2 19.0 wia | 1/2 209-27 P209 1.96
209-28 1 3/4 209-28
209 209
UCP210-30 178 UCP210-30
5:3’:” 1 16/16 50 57.2 | 206 159 60 2 20 22 12 51.6 19.0 | w6 | s/8 f::; 31 P210 2.49
21032 |2 210-32
ucP2i1-32 |2 UCP211-32
j:i’34 2 A 55 63.5 | 219 172 60 25 20 22 126 55.6 2.2 | w6 | 5/8 5:{"4 p211 2.91
211-35 |2 3/16 211-35
UCP212-36 |2 1/4 UCP212-36
212 60 69.8 | 241 186 70 25 20 25 137 65. 1 25.4 | M6 | 5/8 212 P212 4.4
21238 |2 1/8 212-38
21239 |2 7/16 212-39
ey s 1/5 Hstn
U(li}é 0 |2 1/2 65 76.2 | 265 203 70 29 25 27 150 65. 1 25.4 | w20 | 3/4 [L’iii 10 P213 5.17
CP214— 2 3/4 ) "P214-44 -
Ltpj}i 44 2 3 70 79.4 | 266 210 72 30 2 27 156 74.6 30.2 | w20 | 3/4 chjij = P214 5.57
UCP215 UCP215
215-47 |2 15/16 75 82.6 | 215 217 74 30 25 28 163 7.8 33.3 | M20 | 3/4 215-47 P215 6.14
21548 |3 215-48
o2k 80 88.9 | 202 232 78 28 2 30 175 82.6 33.3 | M0 | 3/ Lapaka P216 7.11
21650 |3 1/8 216-50
UCP217-52 |3 1/4 UCP217-52
217 85 95.2 | 310 247 83 30 25 32 187 85.7 34.1 W20 | 3/4 217 p217 9.18
2755 |3 7/16 217-55
UCPi:ii% s 90 101. 6 327 262 88 30 27 34 200 96. 0 39.7 M22 | 7/8 m’i::’iﬁ P218 10. 63
_________________________________________________________________________________ B #%+— At www.ok—-bearing.com )’



FKD m&-imit m@E-iait FKD

BEARING [CHINA-HEBEI CHINA-HEBEI| BEARING

BV UCPXO00 (medium-duty) 72t

Pillow Blocks i ‘ Pillow Blocks UCP 300 (heavy-duty)
== +
Yy ‘
1A Bi
kSN \ — ey
(&) |
w
d |
h S
n
IT )\ P N X
&
| S,
| |
! b 1T 1
& oy ]
: ! :
I SR () B B Tl b
s 7| Shaft Dia. : B S = Bearing | Housing : N
Bearing Unit ] Dimensions (mm) Bolt Used No No Weight
No. (in.) (mm) h a e b = S g W Bi n (mm) [(in.) (kg)

UCPX05 UCx05 _ o 42 2= N e
X05-14 /8 25 44.4 159 119 51 25 17 18 85 38.1 15.9 M4 | 1/2 X05-14 PX05 1. 50 7 o gl AR AR Shaft Dia NIANSNE > ) 3R Bearing |Housing HiE
X05-16 1 X05-16 Bearing Unit q . Dimensions (mm) Bolt Used No No Weight

UCPX06 UCX06 No. (in.) (inm) h a e b s, s, g W Bi n (mm) [(in.) (kg)
X06-18 11/8 ) X B _ , _ X06-18 X UCP305 1C305

: : 30 : p : 2 20 9 i 4 p o ) 2.
X06-19 1 3/16 1.6 17 127 o » 1 2 ! 12.9 I N RS X06-19 FXQB 200 305-14 /8 25 15 175 132 45 20 17 16 85 38 15 wid | 172 305-14 P305 198
X06-20 1 1/4 X06-20 305-16 1 305-16
‘)‘ — UCP306-18 1 1/8 UC306-18

UCEX07720 i é? g UCx07-20 306 30 50 180 110 50 20 17 18 95 13 17 M| 1/2 306 P306 172
ig; 22 : 35 54.0 | 203 144 57 30 17 22 105 19.2 19.0 | w4 | 172 ;g; 2 PX07 2.70 306-19 1 3/16 206-19
X07-23 1.7/16 X07-23 UCP307-20 11/4 UC307-20

307-21 13/8 . : . ; p : 307-21 ; o
3: : : Wi | 172 P307 2.33

Lo I e 40 58.7 | 222 156 67 32 20 26 13 9.2 19.0 | w6 | 5/8 RLXges PX08 3.50 50 " " . o ” . " . " " v ' 307
X08 o8 ‘ : : : - ‘ X08 - 307-23 1 7/16 307-23

UCPX09-26 1 5/8 UCX09-26 U= 113 40 60 220 170 60 27 17 22 116 52 19 wid | 172 WS P308 3.01
X09-27 1 11/16 X09-27 308 308
oo h i 15 58.7 | 222 156 67 33 20 26 116 51.6 19.0 | w6 | 58 i PX09 3.60 T o oo
X09 09 06 : 45 67 245 190 67 30 20 2 129 57 22 W6 | 5/8 e P309 3.77

ICP310- 5 , 310~ ,
UCPX10-31 1 15/16 UCX10-31 “Péig 31 1 15/16 50 75 275 212 75 35 20 27 143 61 22 wi6 | 5/8 “ﬂg 31 P310 5.47
X10 50 63.5 | 241 171 73 36 20 27 126 55.6 222 | M6 | 5/8 X10 PX10 14.40 :
X10-32 2 X10-32 31132 ; _ 311-32
UCP%H g2 2 55 80 310 | 23 | s0 38 20 30 154 66 25 w6 | 5/8 L i P311 6.83
UCPXL1 UCX11 : —
UCP312 . . uc312
- . _ = : 3: ; : g ; g : w20 | 3/4 P312 1t
=gy Z 55 69.8 | 260 184 79 36 2 30 139 65. 1 25.4 | w20 | 3/4 =g PXLI 6.30 312-36 2 1/4 et 89 22 250 £ 28 22 2 165 “ 25 U 312-36 3 gt
X11-35 2 3/16 X11-35
M=y 2 1/4 X11-36 ij;{ji’“’ 21/2 65 90 340 260 90 38 25 35 176 75 30 w20 | 3/4 LL:?;:Z £ P313 9.41
Uu’ill;% A Ucili% Cehdlasds 23/4 70 95 360 | 280 90 10 27 35 187 78 33 w2 | 7/8 UGS 1a=4 P314 1108
; 60 76.2 286 203 83 41 25 32 152 65. 1 25.4 M20 | 3/4 ; PX12 7.40 314 314
X12-38 2 3/8 X12-38 .
X12-39 2 7/16 X12-39 ucp3ls
315-47 2 15/16 75 100 380 290 100 40 27 35 198 82 32 w2 | 7/8 P315 13.8
315-48 3

UCPX13-40 21/2 UCX13-40
s / 65 76.2 | 286 203 83 41 2% 32 154 74.6 30.2 | M0 | 3/4 s PX13 7.70
XL : UCP316 . ) . ) ) . . UC316 - .

i D e 80 106 400 300 110 40 27 10 210 86 34 w2 | 7/8 1650 P316 16.2

Icp 4 2 3/ JCX14-4

“"m i 2 Bid 70 88.9 | 330 229 89 51 27 35 171 77.8 33.3 | M2 | /8 “iii 1 PX14 10. 60 UCP3LT o

78 —_ 85 112 120 320 110 15 33 10 220 96 10 wer | 1 i 5 P317 19.2
ezl ) _ ) - ) o UCX15 UCP318-56 31/2 ‘ _ N _ . ) ) UC318-56 . )
X15-47 2 15/16 75 88.9 | 330 229 89 51 27 35 175 82.6 33.3 | M2 |78 X15-47 PX15 11.10 i 90 118 1430 330 110 45 33 145 235 9% 10 wer | 1 e P318 21.1
X15-48 3 X15-48
UCP319 Uc319

T — 95 125 470 360 120 50 36 45 250 103 41 w30 [11/8 P319 28.2

e A 80 | 1016 | 381 283 102 59 27 42 195 85.7 301 | w2 |78 G PX16 16. 20 . e
P 4 100 140 490 380 120 50 36 50 275 108 142 w30 [11/8 it P320 34.8
UCPX17 i ) ’ : y . ) . ) " Uex17 .
${7.5 3 17 85 | 1016 | 381 283 102 60 27 45 200 96.0 39.7 | w22 | /8 X175 PX17 16. 50 o o
110 150 520 400 140 55 10 50 296 17 16 w33 [11/4 ' P322 13.2
UCPX18-56 31/2 ] ) - UCX18-56 '
90 | 1016 | 381 283 111 60 27 15 204 1040 | 429 | w2 | 7/8 PX18 18. 00 1CP32
X18 X18 tersze 120 160 570 450 140 55 10 50 316 126 51 M33 |1 1/4 tesz P324 54.0

UCPX20 . - y . P s 2 = y - UCx20 ; - UCP326 UC326

X20-61 4 100 127.0 432 337 121 64 33 52 245 117.5 49.2 M27 1 X20-64 PX20 31.80 130 180 600 480 140 55 40 50 355 135 54 M33 |1 1/4 P326 72.1
UCP328 Uc328
140 200 620 500 140 55 40 60 393 145 59 w33 (1 1/4 P328 91.2

K12 Vo L = R - S < 000000000000 0000000000000 0000000000000 0000000000000 o000ossos oo @D a#+— Huxts www.ok-bearing.com 133



FKD m&-imit

CHINA-HEBEI

BEARING

T e

UCF 200 (normal-duty)

Ji e e

m@E-iat FKD

CHINA-HEBEI

BEARING

. a
Flange Units(Square) 45 ‘
Drill
ale
. ol L[ 7 - .
iy BEHN AR Sheitic Dis SMERGE (222K ]k Bearing | Housing s
Bearing Unit d Dimensions (mm) Bolt Used No e Weight
No. (in.) (mm) a e i g 1 s 7 Bi n (mm) |(in.) (kg)
UCF201 ; ) ) - o - . 0o - . . . uc201 o 5
Soi 75 12 86 64 15 12 25.5 12 33.3 31 12.7 wio | 3/8 Sois F201 0.59
UCF202 i i ) i o ) o ) . ) 10202 o _
51 o 15 86 61 15 12 2.5 12 33.3 31 12.7 | M0 | 3/8 e F202 0.57
UCF203 i ) , ) o ) . ) ) ) 1C203 o .
Sy e 17 86 64 15 12 25.5 12 33.3 31 12.7 | M0 | 3/8 O F203 0. 56
R 90415 - 102041 i
Leh20%gl2 e 20 86 64 15 12 2.5 12 33.3 31 12.7 | M0 | 3/8 el F204 0.54
204 204
UCF205-14 7/8 1C205-14
205-15 15/16 . B ) - ) . N . ) 205-15 . ,
205 2 95 70 16 14 27 12 35.8 3.1 14.3 | M0 | 3/8 b F205 0. 66
205-16 1 205-16
UCF206-18 11/8 1C206-18
206 30 108 83 18 14 31 12 10.2 38. 1 15.9 Mo | 3/8 206 F206 0.93
206-19 1 3/16 206-19
206-20 11/4 206-20
UCF207-20 11/4 1C207-20
207-21 1 5/16 207-21
207-22 13/8 35 117 92 19 16 34 14 44,4 2.9 17.5 | w2 |7/16 207-22 F207 1.2
207 207
207-23 1 7/16 207-23
UCF208-24 1 1/2 . ) UC208-24
208-25 1 9/16 40 130 102 21 16 36 16 51.2 49.2 19.0 M4 | 1/2 208-25 F208 1.57
208 208
UCF209-26 1 5/8 1C209-26
209-27 111/16 - - , 209-27 . .
4 : 10: 22 18 38 19.1 9. wia | 172 F209 .
il Vo 5 137 05 3 16 52.2 19.2 19.0 / oo 1.76
209 209
UCF210-30 1 7/8 1C210-30
210-31 1 15/16 50 143 11 22 18 10 16 54.6 51.6 19.0 M4 | 172 210-31 F210 2.05
210 210
210-32 2 210-32
UCF211-32 2 UC211-32
g“’“ 218 55 162 130 25 20 13 19 58.4 55.6 22.2 | M6 | 5/8 j}i"“ F211 2.96
211-35 2 3/16 211-35
UCF212-32 2 1/4 UC212-32
212 ) . . - - " 212 .
e —_ 60 175 143 29 20 48 19 68.7 65.1 25.4 | M6 | 5/8 SE F212 3.54
212-39 2 7/16 212-39
ULF;};HO 212 65 187 149 30 20 50 19 69. 7 65. 1 25.4 M6 | 5/8 “5}2’40 F213 4,92
UCF214-44 23/4 _ Uc214-44
o / 70 193 152 31 2 54 19 75.4 74.6 30.2 w6 | 5/8 o F214 5.09
UCF215 uc215
215-47 2 15/16 75 200 159 34 2 56 19 78.5 7.8 33.3 | M6 | 5/8 215-47 F215 5.79
215-48 3 215-48
UCF216 - _ Uc216 .
208 1 1 22 2 3, : w20 | 3/4 F216 .91
TR N 80 0 65 3 56 23 78 83.3 33.3 | / S 6.9
UcH2li=02 31/ 85 220 175 36 2% 63 23 87.6 85.7 34.1 W20 | 3/4 Heell-ue F217 8.63
217 217
“(7"‘;:’56 3172 90 235 187 40 2% 68 23 96.3 96.0 39.7 | M20 | 3/4 ['(:312’56 F218 9.5

Z14

FIFIB o5 @ # & 46 5K & 4 B T e

Flange Units(Square) 7 a
] Drill ¢
o
(D))
0 LY
n
% ale
el
S e =) ?H} ’/f}‘_ &l\ 7 —ﬁ‘*) | L =
WHHARS | g e b TR (2 B | Beari Housi =
! . Shaft Dia. . 5 earing ousing 5
Bearing Unit q Dimensions (mm) Bolt Used e No Weight
No. (in.) (mm) a e i g 1 s 7 Bi n (mm) [(in.) (kg)
UCFX05 - ) ‘ ) ) ) ) ) UCX05 .
0h 16 2 108 83 18 13 30 12 10. 2 38.1 15.9 | w0 | 3/8 016 FX05 11
UCFX06 UCX06
X06-19 13/16 30 17 92 19 14 3 16 4.4 12.9 175 | wa | 122 X06-19 FX06 1.4
X06-20 1 1/4 X06-20
UCFX07-20 1 1/4 UCX07-20
2= 1l &k 35 130 102 21 14 38 16 51,2 9.2 19.0 | w4 | 1/2 M2k FX07 1.9
X07 X07
X07-23 17/16 X07-23
JCFX08 JCX08-
e e 1 10 137 105 22 14 40 19 52.2 19.2 19.0 | w6 | 5/8 texos=24 FX08 2.1
X08 X08
UCFX09-26 15/8 UCX09-26
X09-27 111/16 _ ) . o o X09-27 ' . -
o Lo 45 143 11 23 14 10 19 5.6 51.6 19.0 | w6 | 5/8 0028 FX09 2.5
X09 X09
UCFX10-30 17/8 UCX10-30
X10-31 115/16 50 162 130 2 20 " 19 59.4 55.6 2.2 | we | s/8 X10-31 FX10 3.6
X10 X10
X10-32 2 X10-32
UCFX11 uex11
X11-34 2 1/8 - B i . X11-34
s St 5 175 143 29 20 19 19 68.7 65. 1 2.4 | w6 | 5/8 o FX11 4.7
X11-36 2 1/4 X11-36
UCFX12-36 2 1/4 UCX12-36
KL 60 187 149 34 21 59 19 73.7 65. 1 25.4 w6 | 5/8 R FX12 5.5
X12-38 2 3/8 : E > ; o 2: 2: . X12-38
X12-39 2 7/16 X12-39
JICFX13-40 y 2 UCX13-40
L ;:% 1 21/2 65 187 149 34 21 59 19 78.4 74.6 30.2 | M6 |58 via FXI3 5.9
UCFX14-44 2 3/4 _ UCX14-44
1 / 70 197 152 37 2 60 23 81.5 7.8 33.3 | w0 |3/ i FX14 7.3
UCFX15 UCX15
X15-47 2 15/16 75 197 152 40 24 68 23 89.3 82.6 33.3 | M0 |3/ X15-47 FX15 8.0
X15-48 3 X15-48
UCFX16 . _ o UCX16 )
i 3 A 80 214 171 10 2 70 23 91.6 85.7 34.1 w20 | 3/4 S FX16 9.8
UCFX17 _ . . . - ) . ; . uex17 ! _
750 5 17 85 214 171 10 24 70 23 9.3 96.0 39.7 | w0 |3/ 1755 FX17 10.5
UCFX18-56 31/2 _ UCX18-56
/ 90 214 171 15 2 76 23 106.1 | 104.0 2.9 | weo | 3/4 A FX18 11.2
X18 X18
UCFX20 . . ) . . _ . ) UCX20 .
S 4 100 268 211 59 31 97 31 127.3 | nws 9.2 | w7 | 1 iie FX20 18. 1
_________________________________________________________________________________ B ax44+— At www.ok-bearing.com 153



FKD m&-imit

CHINA-HEBEI

BEARING

J7 1R

Flange Units(Square)
€
A I SR GREK) Y it
WREMANRS | qire Di (= BB | Bearing |Housi o
! ; Shaft Dia. . b earing ousing ;
Bearing Unit ] Dimensions (mm) Bolt Used No No Weight
No. (in.) (mm) a e i g 1 s 7 Bi n (mm) |(in.) (kg)
UCF305 . . 1305 .
25 ) . 2¢ ] 39 38 1: M / ~ F307 .20
305-16 | 25 110 80 16 13 29 16 b] 14 1/2 305-16 5 |
UCF306-18 11/8 UC306-18
306 30 125 95 18 15 32 16 44 43 17 M14 1/2 306 F306 1.8
306-19 1 3/16 306-19
UCF307-20 11/ UC307-20
307-22 13/8 35 135 100 20 16 36 19 49 18 19 w6 | 5/8 307-22 F307 2.20
307 307
307-23 17/16 307-23
WeEltc=on 1z 10 150 112 23 17 10 19 56 52 19 6 | 5/8 e F308 3.0
308 308
UCES09-26 1 3/4 45 160 125 25 18 m 19 60 57 2 wie | 5/8 ea0i-2s F309 3.8
309 309
UCF310-31 1 15/16 UC310-31
310 50 175 132 28 19 8 23 67 61 22 w20 | 3/ 310 F310 19
310-32 2 310-32
UCF;} }732 2 55 185 140 30 20 52 23 71 66 2 w20 | 3/4 chi }’32 F311 5.6
UCR312 N N . : e U312 - ]
o6 ol 60 195 150 33 22 56 23 78 71 2% w20 | 374 o F312 6.8
L‘C"‘?]fi 10 2172 65 208 166 33 22 58 23 78 75 30 w20 | 3/4 20 F313 7.8
3/4 70 226 178 36 2 61 2 81 78 33 w2 | 78 s & F314 9.8
U315
2 15/16 75 236 184 39 2 66 25 89 82 32 w22 | 78 315-47 F315 11.6
3 315-18
, . U316 e
2 96 3 : ; : 91 86 34 W2 1 0 3.1
SR 80 250 196 39 27 68 31 7 i F316 13.2
- & 7 P N ’ uc317 ne P
85 260 201 1 27 7 31 100 9% 10 w1 |1 F317 15.2
3172 90 280 216 1 30 76 35 100 96 10 wo | 118 L'Cfiii’% F318 18.8
(e 95 290 228 59 30 94 35 121 103 11 w0 |1 1/8 e F319 21,1
UCF320 _ 1320 :
: : : Py : 12 108 2 w3 |11/ 320
ho0-64 . 100 310 212 59 32 91 38 5 0 33 / et F3 25.3
Uees22 110 340 266 60 35 9% 11 131 117 16 w36 [13/8 iz F322 35.0
Lt 120 370 290 65 10 110 1 140 126 51 w6 |1 3/8 Lo F324 1.2
Wl 130 410 320 65 45 115 1 146 135 54 w6 |1 3/8 L2y F326 64.1
(Ckdzs 110 150 350 75 55 125 41 161 145 59 w6 |1 3/8 Wiz F328 90.2

<16

FIFIB o5k @ # & 46 5K % 4 B T e

m@E-iait FKD

CHINA-HEBEI

A
Flange Units (Oval)

|

BEARING

2-5
Dl
i 5| E BN R (22K 7t
iR AT | ghaft Dia ZANNS ®oK Bearing [Housing| ., .
Bearing Unit d Dimensions (mm) Bolt Used No No Weight
No. (in.) (mm) a e i g 1 s b Z Bi n (mm) [(in.) (kg)
UCFL201 . B e . i s ) ) o 1201 N N
201-8 1/2 12 113 90 15 11 25.5 12 60 33.3 31.0 12.7 M10 3/8 201-8 FL201 0. 44
UCFL202 P . . 5 = ’ - a5 S : uczo2 2120 "
50910 5/8 15 13 90 15 1 25.5 12 60 33.3 | 3o | 127 | wo |38 0910 FL202 0.42
UCFL203 ] ) ) ] o ) ) 10203 .
S . 17 113 90 15 11 25.5 12 60 33.3 | 30 | 127 | mio | 3/8 20911 FL203 0.41
JCFL204-12 : 5204-1
(G202 e 20 13 90 15 11 25.5 12 60 33.3 | 310 [ 127 | w0 |38 LC20ae FL204 0.39
204 204
UCFL205-14 7/8 1UC205-14
205-15 15/16 25 130 99 16 13 27 16 68 35.7 34.1 14.3 | w4 | 172 205-15 FL205 0.57
205 205
205-16 1 205-16
UCFL206-18 1 1/8 UC206-18
206 i 30 148 117 18 13 31 16 80 10.2 | 381 159 | wa | 172 206 FL206 0.76
206-19 1 3/16 206-19
206-20 11/4 206-20
UCFL207-20 11/4 UC207-20
207-21 1 5/16 207-21
207-22 1 3/8 35 161 130 19 14 34 16 90 404 | 429 | 175 | wia [ 172 207-22 FL207 1.05
207 207
207-23 1 7/16 207-23
UCFL208-24 11/2 1C208-24
208-25 19/16 40 175 144 21 14 36 16 100 5.2 | 49.2 [ 190 | w4 | 172 208-25 FL208 1.34
208 208
UCFL209-26 1 5/8 1C209-26
209-27 LI/I6 | g5 188 148 22 15 38 19 108 52.2 19. 2 19.0 | w6 | 5/8 209-27 FL209 1.70
209-28 1 3/4 209-28
209 209
UCFL210-30 17/8 Uc210-30
i:i:’:“ 1 15/16 50 197 157 22 15 40 19 115 54.6 51.6 19.0 | w6 | 5/8 j:g“ FL210 1.92
210-32 2 210-32
UCFL211-32 2 UC211-32
ﬁ::’“ 21/8 55 224 184 2 18 43 19 130 58.4 | 55.6 | 222 | w6 | 5/8 ﬁi:’“ FL211 2873
211-35 2 3/16 211-35
UCFL212-36 2 1/4 UC212-36
212 60 250 202 29 18 18 23 140 68.7 | 65.1 25.4 w20 | 3/4 212 FL212 3.56
212-38 2 3/8 212-38
212-39 2 7/16 212-39
JCFL213~ 2 2 C213-4
““;}; 10 2l 65 258 210 30 20 50 23 155 69.7 | 65.1 | 254 | w0 | 3/4 “;i; 10 FL213 1.37
ULFL;}?{“ 2 3/4 70 265 216 31 20 54 23 160 75.4 | 7406 | 30.2 | w20 | 3/4 “;ﬁ’“ FL214 4.95
UCFL215 _ _ . ) _ B ) Uc215 . ,
S . 75 275 225 34 20 56 23 165 78.5 | 7.8 | 333 | M20 | 3/4 ST FL215 5.18
UCFL216 _ ) ) ) Uc216 - .
SR S 80 290 233 34 20 58 25 180 83.3 | 826 | 333 | w20 | 3/4 STReED FL216 6. 36
U‘”‘éi;’m 3 1/4 85 305 248 36 22 63 25 190 87.6 | 85.7 | 301 | w20 | 3/ “/ji%’”z FL217 7.68
JCFL218-56 3. 1/9 218-56
L“[j:: o6 3 1/2 90 320 265 40 23 68 25 205 96.3 96 30.7 | w20 | 3/ “j}: % FL218 9.54
_________________________________________________________________________________ B a44— At www.ok-bearing.com 173



FKD m&-imit

BEARING [CHINA-HEBEI

e ol .
e ALD UCFLXO00 (medium-duty)
Flange Units (Oval)
z
i
|
:
n
Bi
T d-¥ b
2 ||
/
S + =} iEE ’/fé &l\m)d TJ‘ ( 7 }K) .,
Y R AR AR S S i UZEN L Bearing |Housing|, &+
Bearing Unit g Dimensions (mm) Bolt Used No o Weight
No. (in.) (mm) a e i g 1 s b Z Bi n (mm) [(in.) (kg)
UCFLX05 UCXo05
X05-14 7/8 25 141 117 18 13 30 12 83 40. 2 38.1 15.9 M10 3/8 X05-14 FLX05 1.0
X05-16 1 X05-16
UCFLX06 ucxo6
X06-18 1 1/16 X06-18
30 [155] 130 19 14 34 16 95 44. 4 42.9 W7 5 M14 1/2 FLX06 1.4
X06-19 1 3/16 X06-19
X06-20 11/4 X06-20
UCFLX07-20 11/4 ucxo7-20
X07-22 13/8 X07-22
35 171 144 21 14 38 16 105 51.2 49.2 19.0 M14 1/2 FLX07 1.9
X07 X07
X07-23 17/16 X07-23
UCFLX08-24 11/2 UCX08-24
40 179 148 22 14 40 16 111 5282, 49.2 19.0 M14 1/2 FLX08 2.0
X08 X08
UCFLX09-26 1 5/8 UCX09-26
X09-27 1 11/16 X09-27
45 189 157 23 14 40 16 116 55.6 51.6 19.0 M14 1/2 FLX09 2.4
X09-28 1 3/4 X09-28
X09 X09
UCFLX10-31 1 15/16 UCX10-31
X10 50 216 184 26 20 44 19 11313 59.4 35, 12242 M16 5/8 X10 FLX10 8% {7/
X10-32 2 X10-32
<18 FIFAD 21 5k @ B B K E Ak B3 T e

m@E- it FKD

CHINA-HEBEI

BEARING

e I A
A
Flange Units (Oval)
Z
I S
i
|
> 1
n
Bi
dl-
&
!
T SR (22K : o
AR AR S St Wia A ®oK Bearing |Housing e
Bearing Unit 7 Dimensions (mm) Bolt Used e N Weight
No. (in.) (mm) a e i g 1 s b z Bi n (mm) |(in.) (kg)
25 150 113 16 13 29 19 80 39 38 15 M16 5/8 [(:3()? & FL305 1.1
1 305-16
UCFL306-18 1 1/8 UC306-18
306 30 180 134 18 15 32 23 90 44 43 17 M20 3/4 306 FL306 15
306-20 1 1/4 306-20
UCFL307-20 11/4 UC307-20
=22 1378 35 185 141 20 16 36 23 100 19 8 19 | w0 |34 S FL307 L8
307 307
307-23 17/16 307-23
Ul 17 40 200 158 23 17 10 23 112 56 52 19 | M0 |34 W2 FL308 2.4
308 308
UCRL309-28 R 15 230 177 25 18 m 25 125 60 57 2 | w2 | s Lcaos-es FL309 3.4
309 309
UCFL310-31 115/16 UC310-31
310 50 240 187 28 19 " 25 140 67 61 2 | w2 | s 310 FL310 43
310-32 2 310-32
e K 55 250 198 30 20 52 25 150 71 66 25 | w2 | s e FL311 5.2
UCFL312 N . . ; Ue312 . .
T - 60 270 212 33 22 56 31 160 78 71 26 | wer | 1 o FL312 6.3
212 65 295 240 33 25 58 31 175 78 75 0 | wr | o1 T FL313 7.9
2 3/4 , o ‘ i : N , UC314-44 o
o 0 315 250 36 28 61 35 185 81 78 3| wo |1 1/8 o FL314 9.3
75 320 260 39 30 66 35 195 89 82 32 | wo |1m| UBB FL315 10.6
3 ' 315-48
80 355 285 38 32 68 38 210 90 86 34 | w3 |1use| UCSI6 FL316 13.5
31/8 E 316-50 : '
85 370 300 14 32 7 38 220 100 9% 10 | ows o |1a|  UOBT FL317 15.2
317-52 31/4 317-52 '
3172 90 385 315 14 36 76 38 235 100 9% O IRV T V21 B e FL318 18.0
UL 95 105 330 59 10 94 1 250 121 103 1 w6 [1a/8| U39 FL319 22.7
UCFL320 ; o , ; 1320 : .
o6t } 100 | 440 360 59 10 91 1 270 125 108 2 | w |12 o6t FL320 27.2
UCEL322 1o | 470 390 60 42 9 44 300 131 17 16 | wo [112]  uese FL322 342
.
UCEL524 120 | 520 130 65 18 110 17 330 140 126 51 wi2 |15/8]  ucsz FL324 48.1
kil 130 | 550 160 65 50 115 a7 360 146 135 54 w2 [15/8]  ueaze FL326 59.5
—
UL 140 | 600 500 75 60 125 51 100 161 145 59 | ws [13/4]  ucss FL328 73.5
_________________________________________________________________________________ B a44+— At www.ok-bearing.com 193



FKD m&-imit

BEARING [CHINA-HEBEI

T e
Take-up Units
(normal-duty)

UCST 200 (wide inch slot)
UCT 200 (narrow metric slot)

Bi

K

= ‘~ A
:
( n m
lj / d|-X-¢ rlq|s
—
o
gl o
/ b
W
s by A l= " 4 O 2 N E=N=N
WEARRS| M 2 AMEIE CEKO : . o
! : . ) S Bearing [Housing ;
Bearing Unitphaft Dia. Dimensions (mm) No No Weight
No. (in.) [ g p q s b k e a W J 1 h Bi n (kg)
UCST204-12 3/4 5/8 | 13/32 11/4 | 3/4 2 | 17/32 |2 63/64| 3 1/2 |3 11/16| 1 1/4 | 15/16 |2 13/32| 1.220 | 0.500 UC204-12 ST204 1.85
UCST205-14 7/8 UC205-14
205-15 15/16 5/8 13/32 2 1 1/4 3/4 2 17/32 |2 63/64| 3 1/2 |3 11/16| 1 1/4 | 15/16 [2 7/16 [ 1.3386 | 0.563 2 5 ST205 1.78
205-16 1 205-16
UCST206-17 | 1 1/16 UC206-17
206718 | L 1/8 | 578 | 13732 |2 7/32 (1 15/32| 55/64 | 2 1/4 | 17/32 | 3 1/2 |4 1/32 |4 7/16 |1 15/32] 1 3/32 | 2 3/4 | 1.500 | 0.626 Al $1206 2.42
206-19 | 1 3/16 206-19
206-20 | 1 1/4 206-20
UCsT207-20 | 1 1/4 UC207-20
207-21 1 15/16 | 5/ | 179 |3 17/32|1 15/32 55/64 |2 17/32| 17/32 | 3 1/2 |4 1/32 |5 3/32 |1 15/32[1 3/16 |3 1/16 | 1.689 | 0.689 207-21 1207 3.53
207-22 | 13/8 207-22
207-23 | 1 7/16 207-23
UCST208724 1 1 1/2 3/4 | 5/8 |39/32 |1 15/32| 1 9/64 |3 9/32| 11/16 |4 1/64| 4 1/2 |5 21/32| 1 5/16 | 1 5/16 |3 15/32| 1.937 | 0.748 UC208-24 ST208 5.30
208-25 | 1 9/16 ettt
UCST209-26 | 1 5/8 UC209-26
209-27 | 1 11/16 | 3/4 | 5/8 |3 9/32|1 15/16] 1 9/64 |3 9/32| 11/16 | 41/64 |1 19/32|5 21/32[1 15/16| 1 3/8 |3 7/16 | 1.937 | 0.748 209-27 1209 5.30
209-28 | 1 3/4 209-28
UcsT210-30 | 1 7/8 UC210-30
210-31 | 115/16 | 3/4 | 5/8 |3 9/32 (1 15/16| 1 9/64 | 3 3/8 | 11/16 |4 1/64 |4 19/32| 5 7/8 |1 15/16|1 15/32(3 17/32| 2.031 | 0.748 210-31 ST210 5. 40
210-32 2 210-32
UCST211-32 2 UC211-32
211-34 | 2 1/8 1 3/4 |4 1/32 |2 17/32| 13/8 | 33/4 [11/16 | 5 1/8 | 5 3/4 [6 23/32|2 17/32| 1 1/2 |4 3/16| 2.189 | 0.874 211-34 ST211 9.04
211-35 | 2 3/16 211-35
UCST212-36 | 2 1/4 UC212-36
21238 | 23/8 | 11/4 | /4 |4 a/s2|2 w32 138 |4 2|1 116 | 5 178 | 5374 | 7 5/8 |2 17/32|1 21/32|a 11/16] 2.563 | 1.000 212-38 ST212 1.0
212-39 | 2 7/16 212-39
uest213-40 | 2 1/2 | 11/a [ 13/16 [ 4 3/8 | 2 374 |1 39/64] 4 3/4 |1 1/16 |5 15/16] 6 9/16 |8 13/16] 2 3/4 |1 23/32|5 13/32] 2.563 | 1.000 UC213-40 ST213 15.5
s W=l P Lo -
EMANS| # & AB RS (2K Boari Housi GOy
! : ; - : earing ousing :
Bearing Unitfhaft Dia. Dimensions (mm) No No Weight
No. (in.) [¢) g p q s b k e a w j 1 h Bi n (kg)
UCT201 12 16 10 51 32 19 51 12 76 89 94 3; 21 61 31 12.7 uc201 1204 0.75
UCT202 15 16 10 51 32 19 51 12 76 89 94 21 61 31 12.7 10202 1204 0.73
UCT203 17 16 10 51 32 19 51 12 76 89 94 21 61 31 12.7 UC203 1204 0.72
UCT204 20 16 10 51 32 19 51 12 76 89 94 32 21 61 31 12.7 UC204 1204 0.70
UCT205 25 16 10 51 32 19 51 12 76 89 97 32 24 62 34 14.3 UC205 1205 0.73
UCT206 30 16 10 56 37 22 57 12 89 102 | 13 37 28 70 | 381 | 15.9 UC206 T206 117
UcT207 35 16 13 64 37 22 64 12 89 102 | 129 37 30 78 | 42.9 | 17.5 UC207 1207 1.45
UCT208 40 19 16 83 19 29 83 16 102 | 114 | 144 49 33 88 | 49.2 | 19 UC208 1208 2.11
UCT209 45 19 16 83 19 29 83 16 102 | 17 | 144 49 35 87 | 49.2 | 19 C209 1209 2.18
UCT210 50 19 16 83 19 29 86 16 02 [ 7 | 19 49 37 90 | 516 [ 19 Uc210 1210 2.35
ucr211 55 25 19 102 64 35 95 22 130 | 16 | 171 64 38 106 | 55.6 | 22.2 ucz11 1211 3.56
UCT212 60 32 19 102 64 35 102 22 130 146 | 194 64 42 119 | 65.1 | 25.4 uc212 1212 4.23
ucT213 65 32 21 111 70 11 121 26 51 167 | 224 70 14 137 | 65.1 uc213 1213 6.04
ucT214 70 32 21 111 70 11 121 2 51 167 | 224 70 16 137 | 746 ucz14 1214 6.35
UCT215 75 32 21 111 70 11 121 26 167 | 232 70 18 140 | 77.8 uc215 1215 6.60
UCT216 80 32 21 11 70 11 121 26 165 181 | 235 70 51 110 | 82.6 3.3 Uc216 1216 7.24
UCT217 85 38 29 124 73 18 157 30 173 198 | 260 73 5 162 | 85.7 1 ucz17 1217 10. 33

<20 FADB % @ # & 4 & % & 4 & &

HERoNAE
Take-up Units

m@E-iait FKD

CHINA-HEBEI

BEARING

(=
d|-X-¢ a
i b
o
T
HE e = H f v el b £l
i JRE Al AR AR S D LN K Bearing [Housing
Bearing Unit 7 Dimensions (mm) No No
No. (in.) [ (mm) [ o g p q s b k e a W j 1 r h | Bi n m
CT305 1305
305-16 ! %5 | 16 | 12 | 62 | 36 | 26 | 65 | 12 | s0 | so [ 12| 36 | 2 [ 46 | w6 | s | 15| 2 305-16 1305 14
305-18 11/8 305-18
UCT 306 : T & 2 5 i : UC306 = g
: 7 y 8 | 7 : : 2 | & : 2 : .
306-19 1 3/16 30 18 14 70 41 8 74 16 90 100 137 41 8 b) D 13 17 6 306-19 1306 1.8
UCT307-20 11/4 UC307-20
=22 138 f a5 | 90 [ 15 | 5 | 45 [ 30 | 80 | 16 [ 100 | 1 | 150 [ 45 | 32 | s6 [ o4 | 8 | 19 [ 20 =2 1307 2.3
307 307
307-23 17/16 307-23
Le0r P20 g | o2 | 17 | 83 | 50 | 32 | so | 18 | mz | 12 [ ose2 | 5o | 3¢ [ e2 | w00 | s [ 19 | 3 Ucet=22n 1308 3.0
308 308
UCT309-28 P/ s | ooa | 18 | oo | 55 | s | o | 18 |z | s [ s | 55 | s | es | w0 | sm | 2 | 3% UCe309-28 1309 11
309 309
UCT310-30 178 UC310-30
210-31 VIS8 0 50 1 o7 | 20 | o8 | 61 | 37 | 106 | 20 | 10 | 15t [t | et | a0 | 7 | m7 | e | 2 | 3 10391 1310 1.9
310 310
310-32 2 310-32
Umgﬂ—sz 2 55 | 29 | a1 | 105 | 66 | 39 | 15 [ 22 | 150 | w63 | 207 | 66 | a1 | so | 127 | 66 | 25 [ @ tciii’Bz 1311 6.1
T3z i i , i Ue312 .
: 2 : 2 | 2 | 20 | 1| 4 & | 1 ; 312 .
T gun | 0 [t | e[| e | w2 6 5 s | 1| % | s o 1312 7.6
uct f:”“’ S22 65 a2 | o5 | ue | 7o | a3 | sa | 26 |10 | 190 | 238 | so [ 50 | 92 | w6 | 5| 0 | s uc: fz’m 1313 9.3
”(7"53:3’1’1 20 g0 s | 25 | w0 | 85 | a6 | 140 | 26 |80 | 202 | a2 | w0 | s | 9r | s | s | 3 15 l"'f:i’}”“ 1314 1.1
1315 o ] . . . . . . . C315 .
; 5 o 32 I ; 2 92 2 262 90 5t 102 160 y 32 5 Sk g
N , 5| 36 | 25 | 12| 85 | a6 | 150 | 26 | 192 | 216 | 262 | 90 | 55 g | 32 | s0 R 1315 13
UCT316 . , X i C316 - X
) | : % | 5 30 | 201 | 230 | 282 : 0 | 17 T T4 .
s s | 80 | | s |0 [ e | s | e |0 |20 | 0 |2 |2 |60 | e | 86 | 3 | s e 1316 16.2
sz . i : o | = A i, 317
’ 2 | 2 | ¢ ( | oo | om0 | 2 2 : 3 | : : ¢
SE sun | 8 [ | fm s | s || 1 10 | 208 | 102 | 60 | 15 | s | o6 | w0 | 56 S, 1317 19
U”ﬁ}:’% V2t gg | ae | 30 |10 | w06 | 57 | 115 | 32 | 228 | 255 | 312 | 1o | es | 120 [ 192 | 96 | 40 | s6 l’“fgg 56 1318 21.6
etk 95 | 46 | 31 | 165 | 106 | 57 | 180 | 35 | 210 | 2n0 | 32 [ 10 | 72 | 125 | w97 | 103 | @ | e2 Uc319 1319 24.9
eT320 . ) ! o N gy > 1320
’ 5 ; 5 : : 2l ; 3 30.
ot , 100 | 48 | 32 | 15 | 15 | 59 | 200 | 35 | 260 | 200 [ 345 | 120 | 75 [ 135 | 200 | 108 [ 42 | 66 ol 1320 30.7
tekozz o | 52 | 38 | iss [ 125 | 65 | 215 | 38 | 285 | 320 | 385 | 130 | so | 150 [ 25 | ur | a6 | 7 Ue322 1322 39.7
Lot 120 | 60 | a2 | 210 | 10 | 70 | 230 | 45 | 320 | 355 | 432 | 140 | 90 | w65 | 27 | 126 | 51 | 75 Uc32d 1324 54.4
e 130 | 6 | 45 | 220 [ 150 | 55 | 200 | 50 | 350 | 385 | 465 | 150 | 100 | 180 | 285 | 135 | 51 | s 1C326 1326 69.3
— Mo | 70 | 50 | 230 | 160 | 8o | 255 | s0 [ 380 | 415 | 55 | 155 | w00 | 200 | 315 | 15 | 59 | s6 1C328 1328 85. 1
_________________________________________________________________________________ B a44+— At www.ok-bearing.com 213



FKD | m&E-imit m@E- it FKD

BEARING [CHINA-HEBEI CHINA-HEBEI| BEARING

& R T e UCFC 200 (normal-duty) f O AL 2 R

Flang Cartridge Units z Pillow Blocks
] (High center height)

n

Bi

RS
Mg
/
b ¢
i Rl 7R AR S SheaDin RN (2 97 Bearing |Housing o
Bearing Unit Dimensions (mm) Bolt Used No No Weight
No. (n.) [ mm) | a D e i 1 s i k g i z | Bi n_ | (mm) [Gn.) (ke)
UCFC201
oHiLs 12 12 100 | 78 |55.116] 10 | 255 | 12 5 7 | 205 | 62 | 283|310 127 Mo |38 Uc201 FC201 0.71 - M 1 SNBIRAL (EEK i L
201-8 iy B A 7 AR S ; DN A= R oM Beari Housi b
! i Shaft Dia. ; 3 earing ousing .
UCFC202 " s i " - e - RO I = y —_— — g Bearing Unit i Dimensions (mm) Bolt Used No No Weight
910 - 15 100 | 78 |51 | 10 |25 12 5 7 | 205 | 62 | 283 | 310|127 Mo |38 1C202 FC202 0.69 No i i : . : (kg)
202-10 . (in.) (mm) h a e b S, S g W Bi n (mm) [(in.)
FC203 Pl >3
L L%( e . 17 100 78 | 55.1 10 |25.5] 12 6 7 20.5 | 62 | 28.3 [ 31.0 | 12.7 | M0 | 3/8 U203 FC203 0. 68 UCPH201 ~ ~ . Uc201 )
203-11 11/16 e 12 70 127 95 40 19 13 15 101 31.0 12.7 Mo | 3/8 PH201 0.96
: 201-8 1/2 201-8
UCFC204-12 3/4 ] o _ !
’ / 20 100 | 78 | 551 | 10 |255]| 12 6 7 |20.5| 62 [ 283|310 127 | Mo |3/ UC204-12 FC204 0.66
204 04 UCPH202 1C202
15 70 127 95 140 19 13 15 101 31.0 12.7 Mo | 3/8 PH202 0.96
UCFC205-14 /8 UC205-14 202-10 5/8 202-10
R 15/16 25 115 | 90 |e636| 10 | 27 | 12 6 7 21 70 | 20.7 | 341 | 143 [ w0 | 3/8 20515 FC205 0.92 -
205 205 UCPH203 UCc203
205-16 1 205-16 17 70 127 95 40 19 13 15 101 31.0 12.7 Mo | 3/8 PH203 0.96
203-11 11/16 203-11
UCFC206-18 11/8 UC206-18
206 ) . ) . I _ ) 206 o . UCPH204-12 3/4 UC204-12
She=i Lase |30 125 | 100 | 70.7 | 10 31 12 8 8 23 80 | 322 | 381|159 | wo | 3/8 b FC206 121 " 20 i i % 0 1 i i 0 B 9.7 wio | 38 o B 0L
206-20 11/4 206-20 2
UCFC207-20 1 1/4 UC207-20 UCPH205-14 7/8 UC205-14
A=z 1 5/16 ., B 207-21 205-15 15/16 205-15
207-22 13/8 35 135 | 110 [ 77.8 | 11 34 14 8 9 26 90 | 36.4 | 429 | 17.5 | w2 | 7/16 207-22 FC207 1.50 2 80 140 105 50 19 13 16 114 34.1 14.3 Mo | 3/8 PH205 1.2
207 207 205 205
207-23 17/16 207-23 20516 . 205-16
UCFC208-24 11/2 UC208-24
208-25 19/16 | 40 145 | 120 | 84.8 | 11 36 14 10 9 26 | 100 | 41.2 | 49.2 | 19.0 | w2 |7/16 208-25 FC208 1.87 UCPI206-18 11/8 UC206-18
208 208 ) )
<0 30 w4 | 172 = PH2
o0 - 00 : 90 165 121 50 21 17 18 130 38.1 15.9 14 | 172 11206 1.6
e | 1o T ws | e
0508 g7 45 160 | 132 | 93.3| 10 38 16 12 14 26 | 105 | 40.2 | 49.2 [ 19.0 | w4 | 1/2 Sioo98 FC209 2.34 906-20 | 1/4 206-20
209 209
UCFC210-30 17/8 1C210-30 UCPH207-20 1 1/4 UC207-20
210-31 115/16 | 50 165 | 138 | 97.6 | 10 40 16 12 14 28 | 110 | 426 | 516 | 19.0 [ w14 | 172 210-31 FC210 2.72
210 210 207-21 1 5/16 207-21
RO Ea 5 TooiiEas 207-22 13/8 35 95 167 127 60 21 17 18 140 42.9 17.5 w4 | 172 207-22 PH207 2.0
é“’“ 2V 185 | 150 |106.1| 13 | 43 19 12 15 | 31 | 125 | 46.4 | 55.6 | 22.2 | w6 | 5/8 i“’“ FC211 3.66 207 207
211-35 2 3/16 il 207-23 17/16 207-23
UCFC212-36 2 1/4 UC212-36
212 212 UCPH208-24 11/2 UC208-24
3}3738 D 60 195 | 160 |113.1| 17 48 19 12 15 36 | 135 | 56.7 | 65.1 | 25.4 | wi6 | 5/8 %738 FC212 4.58 /
212-39 2 7/16 212-39 208-25 1.9/16 40 100 184 137 70 21 17 20 150 49.2 19.0 M4 | 1/2 208-25 PH208 o
208 208
ICFC213- 2 1/
MH;}E & 22 65 205 | 170 | 120.0 | 16 50 19 14 15 36 | 145 | 55.7 | 65.1 | 25.4 | w6 | 5/8 UC213-40 FC213 5.07
213 UCPH209-26 15/8 1C209-26
UCFC214-44 2 3/4 _ _ . . S _—
; 70 215 | 177 |125.1| 17 54 19 14 18 40 | 150 | 61.4 | 74.6 | 30.2 | w6 | 5/8 UC214-44 FC214 6.15 209-27 1 11/16 209-27
21t 214 15 105 190 146 70 21 17 20 158 19.2 19.0 | w4 | 1/2 PH209 3.0
209-28 13/4 209-28
UCFC215 _ . , _ ) .
el @ 220 | 184 | 130.1| 18 56 19 16 18 40 | 160 | 62.5 | 77.8 [ 33.3 | M6 | 5/8 uc215 FC215 6.79 209 209
215-48 3 Co
215-48
Herez16 80 240 | 200 | 141.4| 18 58 23 16 18 18 | 170 [ 67.3 | 82.6 | 33.3 | M20 | 3/4 Uc216 FC216 8.01
: a G IRl : UCPH210-30 17/8 UC210-30
UCFC217-52 3 1/4 210-31 115/16 ) 210-31 )
917 85 250 | 208 |147.1| 18 63 23 18 20 15 | 180 | 69.6 | 85.7 | 34.1 | m20 | 3/4 UC217-52 FC217 9.18 o 50 110 206 159 70 22 20 22 165 51.6 19.0 Wi | 5/8 o PH210 3.5
217
UCFC218-56 31/2 210-32 2 210-32
218 A 90 265 | 220 |155.5| 22 68 23 18 20 50 | 190 | 78.3 | 96.0 | 39.7 | w20 | 3/4 UC218-56 FC218 1.3
218
L a A " — : -
22 FIFADB 21 5k @ B B b K E Ak B3 T e BT 4 % dk www.ok-bearing.com 233




FKD m&-imit

CHINA-HEBEI

BEARING

[ ARV

Top-based Pillow Blocks

2-5 a
e =] ﬂh ’/fé T H (B m 5 =
A EER R : SMER AT (22K 2 8 | peoine ossing| R
¥ i Shaft Dia. : 5 = earing ousing A
Bearing Unit q Dimensions (mm) Bolt size No No Weight
No. (in.) (mm) h a e b e g W D Bi n (mm) (kg)
UCPA201 1c201
12 30. 2 76 52 40 10 11 62 13 31.0 12.7 M 10 PA201 0.56
201-8 1/2 201-8
UCPA202 1C202
15 30.2 76 52 40 10 11 62 13 31.0 12.7 M10 PA202 0. 54
202-10 5/8 202-10
UCPA203 Uc203
17 30. 2 76 52 40 10 11 62 13 31.0 i, M 10 PA203 0.53
203-11 11/16 203-11
UCPA204-12 3/4 UC204-12
20 30. 2 76 52 40 10 11 62 13 31.0 12.7 M 10 PA204 0.51
204 204
UCPA205-14 /8 UC205-14
205-15 15/16 205-15
25 36.5 84 56 15 10 12 72 13 34.0 14.3 M 10 PA205 0.68
205 205
205-16 1 205-16
UCPA206-18 11/8 UC206-18
206 30 42.9 91 66 50 14 12 84 18 38.1 15.9 M 14 206 PA206 0.99
206-19 13/16 206-19
UCPA207-20 11/4 UC207-20
207-21 1 5/16 35 47.6 110 80 55 14 13 95 20 42.9 17.5 207-21
207-22 13/8 M 14 207-22 PA207 1.42
207 207
207-23 17/16 207-23
UCPA208-24 11/2 1C208-24
208-25 19/16 40 49.2 116 84 58 14 13 100 20 9.2 19.0 M4 208-25 PA208 1. 64
208 208
UCPA209-26 15/8 1UC209-26
209-27 111/16 209-27
45 54.2 120 90 60 14 13 100 2 49.2 19.0 M 14 PA209 1.80
209-28 13/4 209-28
209 209
UCPA210-30 17/8 UC210-30
210-31 1 15/16 210-31
50 57.5 130 94 61 16 14 116 2 51.6 19.0 M 16 PA210 2.23
210 210
210-32 2 210-32

{24

ENEEFAEA

Adjustable Flange Units

Bi

m@E- it FKD

CHINA-HEBEI

BEARING

/ oy
H'\\\\“\\\\“ S-Drill
V0802450
i ' '
b \
i ¢
!
o] M a— —
AR : NRRE =) B B | pearing | Housi i
K . Shaft Dia. : - earing ousing :
Bearing Unit 7 Dimensions (mm) Bolt Used o No Weight
No. Gn.) [ (mm) a e i g 1 s b 7 c Bi n (mm) [(in.) (kg)
UCFA201 uc201
12 98 78 15 11 25.5 10 60 33.3 50 3.0 | 12.7 w8 | 5/16 FA201 0.47
201-8 1/2 201-8
UCFA202 UC202
15 98 78 15 11 25.5 10 60 33.3 50 3.0 | 127 W | 5/16 FA202 0. 47
202-10 5/8 202-10
UCFA203 C203
17 98 78 15 11 25.5 10 60 33.3 50 3.0 | 127 w8 | 5/16 FA203 0. 47
203-11 11/16 203-11
UCFA204-12 3/4 UC204-12
20 98 78 15 11 25.5 10 60 33.3 50 3.0 | 12.7 w8 | 5/16 FA204 0. 47
204 204
UCFA205-14 7/8 UC205-14
205-15 15/16 205-15
25 124 98 16.0 13 27 12 70 35.7 65 30.1 | 14.3 | M0 | 3/8 FA205 0.68
205 205
205-16 1 205-16
UCFA206-18 11/8 UC206-18
206 206
30 141 17 18 13 31 12 83 40.2 72 38.1 | 15.9 | M0 | 3/8 FA206 1.0
206-19 13/16 206-19
206-20 11/4 206-20
UCFA207-20 11/4 UC207-20
207-21 15/16 207-21
207-22 13/8 35 155 130 19 14 34 14 96 44.4 82 42,9 | 17.5 | w2z |7/16 207-22 FA207 1.4
207 207
207-23 17/16 207-23
UCFA208-24 11/2 UC208-24
208-25 19/16 140 171 144 21 16 36 14 105 51.2 87 49.2 19 w2 | 7/16 208-25 FA208 187
208 208
UCFA209-26 1 5/8 UC209-26
209-27 111/16 209-27
45 179 148 22 16 38 16 111 52.2 90 49.2 19 w4 | 172 FA209 2.1
209-28 13/4 209-28
209 209
UCFA210-30 17/8 UC210-30
210-31 115/16 | 210-31
50 189 157 22 16 40 16 116 54.6 94 5.6 | 19.0 | M4 | 1/2 FA210 2.4
210 210
210-32 2 210-32
UCFA211-32 2 UC211-32
211-34 2 1/8 ; 211-34
55 216 184 25 16 43 16 133 58.4 104 55.6 | 22.2 | M4 | 1/2 FA211 3.4
211 211
211-35 2 3/16 211-35
B 3 % 4k www.ok—-bearing.com 25>



FKD m&-imit

BEARING [CHINA-HEBEI

SRS

Screw Conveyor Hanger Units

mE-imit| FKD

CHINA-HEBEI

BEARING

Flange Bracket Units
c
v 3%
Drill
.
=S
|| G (R T — =
i B AR S . AN RS (222K [ i B o H 8 B
! .7|Shaft Dia. ! k earing [Housing =
Bearing Unit q Dimensions (mm) Bolt Used No No Weight
No. (in.) [ (mm) W b c D i s g h j e i 7 Bi n | (mm) [(in.) (kg)
UCFB201 Uc201
12 1o | 62 52 52 | 2.5 10 13 12 27 32 15 | 31.8 | 31.0 | 12.7 M8 | 5/16 FB201 0.64
201-8 1/2 201-8
UCFB202 UC202
15 1o | 62 52 52 | 2.5 | 10 13 12 27 32 15 | 318 | 3L0 | 127 | w8 |s5/16 FB202 0.64
202-10 | 5/8 202-10
UCFB203 Uc203
17 10 | 62 52 52 | 2.5 | 10 13 42 27 32 15 | 318 | 3.0 [ 127 | M8 |5/16 FB203 0.64
203-11 | 11/16 203-11
UCFB204-12 | 3/4 UC204-12
20 10 | 62 52 52 | 255 | 10 13 42 27 32 15 | 318 [ 310|127 | ws |5/16 FB204 0.64
204 204
UCFB205-14 | 7/8 UC205-14
205-15 | 15/16 205-15
25 16 | 68 52 56 27 10 13 45 27 34 16 | 347 | 34 | 143 | ws |5/16 FB205 0.68
205 205
205-16 1 205-16
UCFB206-18 | 1 1/8 UC206-18
206 206
30 132 80 55 65 31 10 13 50 32 10 18 | 39.2 | 381|159 | M |5/16 FB206 0.92
206-19 |1 3/16 206-19
206-20 2 206-20
UCFB207-20 | 1 1/4 1C207-20
207-21 |1 5/16 207-21
20722 [ 13/8| 35 144 90 62 70 34 10 15 55 32 16 19 | 4.4 | 429 | 175 | w8 | 5/16 207-22 FB207 1.3
207 207
207-23 |1 7/16 207-23
UCFB208-24 | 1 1/2 UC208-24
208-25 [19/16 | 40 164 | 100 [ 72 78 36 12 16 60 11 50 21 | 512 | 49.2 | 19 W | 3/8 208-25 FB208 1.8
208 208
UCFB209-26 | 1 5/8 UC209-26
209-27 |1 11/16 209-27
145 175 | 106 76 80 38 12 18 65 43 54 2 | 522 | 49.2 | 19 wo | 3/8 FB209 2.0
209-28 | 1 3/4 209-28
209 209
UCFB210-30 | 1 7/8 1C210-30
210-31 |1 15/16 . . 210-31
50 184 | 114 | 8 86 40 12 18 68 16 58 22 | 546 | 51.6 | 19 Wo | 3/8 FB210 2.3
210 210
210-32 2 210-32

{26

FHB s # @ % &

R E A H T

]
c K
Av
i 1] 5
>
1
£}
n !
i Bi
,,,,, WA .
i
!
1
i
i
i
i
i
i
i
a
RS S e
iy R AR S ; AMEIGE GO Beari Housi =
l . Shaft Dia. . ; earing ousing %
Bearing Unit q Dimensions (mm) Na No Weight
No. Gn) [ (m) a W c h 1 D K Bi n (kg)
UCHA201 ) X X X " ) ) Uc201 »
il 73 12 64 96 0 64 10 19 63/4 31.0 12.7 i HA201 0.77
UCHA202 - X X X . ) ) UC202 o
el . 15 64 96 0 64 10 19 63/4 31.0 12.7 g HA202 0.77
UCHA203 . . UC203 .
el S 17 64 96 0 64 40 19 63/4 31.0 12.7 o 1A203 0.77
U1 S 20 64 96 0 64 10 19 63/4 31.0 12.7 te20-1 HA204 0.77
204 204
UCHA205-14 7/8 UC205-14
205715 15/16 25 78 103 0 64 40 19 63/4 34 14.3 205715 HA205 0.87
205 205
205-16 1 205-16
UCHA206-18 11/8 UC206-18
206 ) ) ) , 206 o .
206-19 | 3/16 30 78 103 0 64 40 19 63/4 38.1 15.9 206-19 HA206 0.83
206-20 11/4 206-20
UCHA207-20 11/4 UC207-20
207-21 1 5/16 207-21
207-22 13/8 35 92 116 0 70 40 19 63/4 42.9 17.5 207-22 1A207 i,
207 207
207-23 1 .3/16 207-23
UCHA208-24 11/2 UC208-24
208-25 1.9/16 40 96 121 2 73 40 19 63/4 9.2 19.0 208-25 1A208 i3
208 208
UCHA209-26 1 5/8 1C209-26
209-27 1 11/16 o - . ) ) . . ) 209-27 .
oo {373 15 108 136 5 82 18 21 Gl 19.2 19 ol HA209 1.9
209 209
UCHA210-30 17/8 UC210-30
210-31 1 15/16 . ) . ) ) . o 210-31 -
51t 50 118 142 5 83 18 21 61 51.6 19.0 556 HA210 2.1
210-32 2 210-32
UCHA211-32 2 Uc211-32
;}}’34 2 ik 55 126 150 7 95 60 25 61 1/4 55.6 22,2 2}1’34 HA211 2.8
211-35 2 3/16 211-35
UCHA212-36 21/4 UC212-36
21 60 142 173 9 102 60 28 61 1/4 65. 1 25.4 A HA212 3.9
212-38 2 3/8 > > 212-38 -
212-39 2 7/16 212-39
HeHag1 =40 Z1/2 65 166 200 9.5 117 70 32 Gl 1/2 65. 1 25.4 Heais 40 HAZ13 5.8
213 213
JCHAS y 2 _ 2214 =
L“HAgii e 23/ 70 166 200 9.5 117 70 32 Gl 1/2 74.6 30.2 Ltjij & HAZ214 5.9
UCHA215 uc215
215-47 2 15/16 75 166 200 9.5 117 70 32 Gl 1/2 77.8 33.3 215-47 HA215 5.6
215-48 3 215-48
B 3 % 4k www.ok—-bearing.com 27>




FKD

BEARING

I s
Cartridge Units

ME ot

CHINA-HEBEI

IA
FrST TR — =
R R G g MBI (K - o el
. . Shaft Dia. . h earing ousing :
Bearing Unit Dimensions (mm) e No Weight
e Gn) Tom) a 1 Bi n (kg)
UCC201 uc201 201
12 72 20 31.0 12.7 0.50
201-8 1/2 201-8
UCC202 €202 €202
15 72 20 31.0 12.7 0.50
202-10 5/8 202-10
UCC203 UC203 €203
17 72 20 31.0 12.7 0. 50
203-11 1 1/16 203-11
UCC204-12 3/4 UC204-12 €204
20 72 20 31.0 12.7 0.50
204 204
UCC205-14 7/8 UC205-14
205-15 15/16 205-15
25 80 22 34 14.3 €205 0. 64
205 205
205-16 1 205-16
1UCC206-18 11/8 UC206-18
206 . . 206
30 85 27 38. 1 15.9 €206 0.81
206-19 1 3/16 206-19
206-20 11/4 206-20
UCC207-20 11/4 UC207-20
207-21 15/16 207-21
207-22 13/8 35 90 28 42.9 17.5 207-22 207 0.93
207 207
207-23 17/16 207-23
UCC208-24 11/2 UC208-24
208-25 1.9/16 40 100 30 49.2 19 208-25 €208 185
208 208
UCC209-26 1 5/8 1UC209-26
209-27 1 11/16 209-27
45 110 31 19. 2 19 €209 1.5
209-28 1 3/4 209-28
209 209
UCC210-30 17/8 UC210-30
210-31 1 15/16 210-31
50 120 33 51.6 19 €210 2.0
210 210
210-32 2 210-32
UCC211-32 2 UC211-32
211-34 2 1/8 211-34
55 125 35 55.6 228 c211 282
211 211
211-35 2 3/16 211-35
UCC212-36 2 1/4 UC212-36
212 212
60 130 38 65. 1 25. 4 212 2.6
212-38 2 3/8 212-38
212-39 2 7/16 212-39
UCC213-40 2 1/2 UC213-40
65 140 40 65. 1 25.4 213 3.0
213 213
g g o 2 A
K28 o [n = R X A A B

M s A7 3

Pressed Housing Pillow Blocks

(1ight—duty)

MEl ot

CHINA-HEBEI

FKD

BEARING

MR e i | wk | swRE | R

ks d h a e b s g W Bl n A ichss e (kg)
SAPP201 12 | 2.2 s6 68 25 | 9.5 | 3.2 [ 438|286 | 6.5 | M8 SA201 PP201 0.19
SAPP202 15 |22.2] 86 68 25 | 9.5 | 3.2 [ 438|286 | 6.5 | M8 SA202 PP202 0.18
SAPP203 17 | 22.2 | 86 68 25 | 9.5 | 3.2 [ 438|286 | 6.5 | M8 SA203 PP203 0.17
SAPP204 20 | 25.4 | 98 76 32 | 9.5 | 3.2 [ 505|310 7.5 | M8 SA204 PP204 0.25
SAPP205 25 | 28.6 | 108 86 32 | 1.5 | 4.0 | 56.6 | 3.0 | 7.5 | M0 SA205 PP205 0.32
SAPP206 30 | 33.3| 117 95 38 | 1.5 | 4.0 | 66.3]35.7 | 9.0 | Mo SA206 PP206 0.47
SAPP207 35 [ 39.7 | 129 | 106 | 42 | 11.5| 46 | 780|389 | 9.5 | Mo SA207 PP207 0.76
SAPP208 40 | 43.7 | 148 | 120 | 43 [ 13.0| 5.0 [ 86.2 | 43.7 | 1.0 | M2 SA208 PP208 0.92
R B ) e | ak | SwRm | R

S d h a e b s g W B n FAk B B (kg)
SBPP201 12 | 22.2 | 86 68 25 | 9.5 | 3.2 [438] 22 | 6.0 | M8 SB201 PP201 0.16
SBPP202 15 | 22.2 | 86 68 25 | 9.5 | 3.2 [438] 22 | 6.0 | M8 SB202 PP202 0.15
SBPP203 17 | 22.2 | 86 68 25 | 9.5 | 3.2 [43.8] 22 | 6.0 | M8 SB203 PP203 0.14
SBPP204 20 | 25.4 | 98 76 32 | 9.5 | 3.2 [50.5] 25 | 7.0 | M8 SB204 PP204 0.22
SBPP205 25 | 28.6 | 108 86 32 | 15| 40 | 56.6| 27 | 7.5 | Mo SB205 PP205 0.28
SBPP206 30 | 33.3 | 117 95 38 | 1.5 | 4.0 [ 66.3] 30 | 80 | Mo SB206 PP206 0. 42
SBPP207 35 [ 39.7 | 129 | 106 | 42 |[11.5| 46 | 78.0]| 32 | 85 | Mo SB207 PP207 0.63
SBPP208 40 | 43.7 | 148 | 120 | 43 [ 130 5.0 [ 862 34 | 9.0 | M2 SB208 PP208 0.76

_________________________________________________________________________________ B ax%4— At www.ok-bearing.com

29>



FKD

BEARING

ME ot

CHINA-HEBEI

<30

N
-
I ]
I
O g Y] 770
LR [ &
|
|
~— —1 i ~ 1
1 |
[HE]
L ! LU
~—tr— ;18 —tr—
U
11— ——m#
SAPFL SBPFL
A AR (o) g | sk W | R
BE d a e b m s t |fmin)| Bl no | Mk S L (kg)
SAPFL201 12 81 63.:5 59 14 7.1 4.0 49 28.6 6.5 M6 SA201 PFL201 0. 20
SAPFL202 15 81 63.5 59 14 7.1 4.0 49 28.6 6.5 M6 SA202 PFL202 0.19
SAPFL203 7 81 (6%, B 59 14 T 1 4.0 49 28.6 (6 & M6 SA203 PFL203 0.18
SAPFL204 20 90 71.5 67 16 9.0 4.0 56 31.0 7.5 M8 SA204 PFL204 0. 25
SAPFL205 25 95 76.0 71 18 9.0 4.0 60 31.0 7.5 M8 SA205 PFL205 0.29
SAPFL206 30 113 90. 5 84 18 11.0 5.2 71 35.7 9.0 M10 SA206 PFL206 0. 46
SAPFL207 25! 1122 100. 0 94 20 11.0 B 2 81 38.9 9.5 M10 SA207 PFL207 0.67
SAPFL208 40 148 119.0 100 21 1133, B 6.8 91 a7 11.0 M12 SA208 PFL208 0.91
e AR () g | sk Wk | &
5 d a e b m s t f(min)| B n A 45 45 (kg)
SBPFL201 12 81 63.:5 59 14 7.1 4.0 49 22 6.0 M6 SB201 PFL201 0.18
SBPFL202 15 81 63:5 59 14 7.1 4.0 49 22 6.0 M6 SB202 PFL202 0.17
SBPFL203 17 81 (655, B 59 14 7.1 4.0 49 22 6.0 M6 SB203 PFL203 0.16
SBPFL204 20 90 7. 5 67 16 9.0 4.0 56 25 7a0) M8 SB204 PFL204 0.22
SBPFL205 25 95 76.0 71 18 9.0 4.0 60 27 7.5 M8 SB205 PFL205 0.25
SBPFL206 30 113 90. 5 84 18 11.0 5.2 71 30 8.0 M10 SB206 PFL206 0. 40
SBPFL207 B.5) 122 100. 0 94 20 11, ©) B 2 81 32 &, & M10 SB207 PFL207 0553
SBPFL208 40 148 119.0 100 2l 13.5 6.8 91 34 9.0 M12 SB208 PFL208 0.75
FIFID 2 sk @ A B 4 K & Al A T e

)
L
L
7

1

MEl ot

CHINA-HEBEI

FKD

BEARING

o 3

M~ | = I

—-t-—- -—-_{—-—

] = -m-—

SAPF SBPF
A MR vy i | sk | WokE | &R
5 d a e m SY i f(min)| BI n FA% B ithss (kg)
SAPF201 12 81 63.5 | 14 7.1 | 4.0 | 49 | 286 | 6.5 | M6 SA201 PF201 0.31
SAPF202 15 81 63.5 | 14 7.1 | 4.0 | 49 | 286 | 6.5 | M6 SA202 PF202 0.30
SAPF203 17 81 63.5 | 14 7.1 | 4.0 | 49 | 286 | 6.5 | M6 SA203 PF203 0.29
SAPF204 20 90 7.5 | 16 9.0 | 40| 5 |31n0]| 75 | w8 SA204 PF204 0.32
SAPF205 25 95 76.0 | 18 9.0 | 20| 60 |3n0]| 75 | w8 SA205 PF205 0.37
SAPF206 30 113 9.5 | 18 |10 52 | 71 |357] 90 | Mo SA206 PF206 0.59
SAPF207 35 122 100.0 | 20 | 10| 52 | 8 |389 | 95 | Mo SA207 PF207 0.81
SAPF208 40 148 119.0 | 21 13.5 | 6.8 | 91 |43.7 [ 110 | M2 SA208 PF208 1.30
e R (um) g | sk | MokE | @R
5 d a e m Sv i f(min)| B n RS iths Zith= (kg)
SBPF201 12 81 63.5 | 14 7.1 | 40| 49 | 22 | 6.0 | M6 SB201 PF201 0.28
SBPF202 15 81 63.5 | 14 7.1 | 40| 49 | 22 | 6.0 | M6 SB202 PF202 0.27
SBPF203 17 81 63.5 | 14 7.1 | 40| 49 | 22 | 6.0 | M6 SB203 PF203 0.26
SBPF204 20 90 7.5 | 16 9.0 | 20| 5 | 25 | 7.0 | w8 SB204 PF204 0.29
SBPF205 25 95 76.0 | 18 9.0 | 20| 60 | 27 | 75 | w8 SB205 PF205 0.33
SBPF206 30 113 9.5 | 18 |1no| 52 | 71 | 30 |80 | Mo SB206 PF206 0.54
SBPF207 35 122 1000 | 20 | 1o 52 | 8 | 32 |85 | Mo SB207 PF207 0.68
SBPF208 40 148 119.0 | 21 13.5 | 6.8 | 91 | 34 | 9.0 | m2 SB208 PF208 1. 14

................................................................................. B %% — FE www.ok-bearing.com

313



FKD

BEARING

FKD

BEARING

ME ot

CHINA-HEBEI

MEl ot

CHINA-HEBEI

ity T 22 & BR T BR 5l UC 200 (normal-duty)
Ball Bearing

. 2-ds
(with setscrews)
n m
d| D
. JT !
=it = 1t 1
’-—-m—— 1l .
SAPFT SBPFT . W , e WE G | B -
Eﬁ]ﬁ({t% Shaft Dia. &I\H;Rﬂ—(%*) Ba;iTrDy;a;ic Ba}sicnSt)at}C E;v . ht%
2 5 R+ (o) B I Dimensions (mm) Load Rating |Load Rating| (%
i B " W2k ik R ot ' G [ m D Bi Bo n n G is ® ™
}__’g% d a e = i s t £ (min) Bl n iﬁljzﬁ, ggj'—‘li 3 U%—JL (kg) Uci((:i,x 1/2 12 47 31.0 16 12.7 18.3 5 M6X1. 0 12800 6650 (;)'129
U(jzj 10 5/8 15 47 31.0 16 12.7 18.3 5 M6X1. 0 12800 6650 :: ::
SAPFT201 12 81 63.5 | 28.5 14 7.1 | 4.0 49 | 28.6 | 6.5 M6 SA201 PFT201 0. 21 —
U('jx; 1 11/16 17 47 31.0 16 1257 18.3 5 M6X1. 0 12800 6650 (0 1
SAPFT202 15 81 63.5 | 28.5 14 7.1 | 4.0 19 | 28.6 | 6.5 M6 SA202 PFT202 0.20 Lczot-12 3/4 " - o p o s o 500 w0 016
SAPFT203 17 81 63.5 | 28.5 | 14 7.1 | 4.0 49 | 28.6 | 6.5 M6 SA203 PFT203 0.19 e 1% o
20; ° ' 25 52 34.1 17 14.3 19.8 5.5 M6X1. 0 14000 7880 19
SAPFT204 20 90 71.5 | 33.0 | 16 9.0 | 4.0 56 | 31.0 | 7.5 M8 SA204 PFT204 0.28 20516 ! 0-19
UC206-18 11/8 0.32
206 _ . . - = : 0.3
SAPFT205 25 95 76.0 | 35.0 | 18 9.0 | 4.0 60 | 31.0 | 7.5 M8 SA205 PFT205 0. 32 206-19 1316 | 30 62 381 19 15.9 22.2 6 Y6X1. 0 14500 11200 0.3
206-20 11/4
SAPFT206 | 30 | 113 | 90.5 |40.0 | 18 | 110 | 52 | 71 |357 [ 9.0 | Mo SA206 PFT206 0. 50 W o
A=) 13/8 35 72 42.9 20 i & 25.4 6.5 M8X1. 0 25700 15200 0.45
SAPFT207 | 35 | 122 | 100.0 | 44.5 | 20 [ 110 5.2 | 81 |[389 | 9.5 | Mo SA207 PFT207 0.71 e | i
UC208-24 1172 0. 64
208-25 1 9/16 40 80 49.2 21 19 30.2 8 M8X1. 0 29600 18200 0.6
208 0.59
UC209-26 15/8 0.74
209-27 1 11/16 R . . L ! o ) 0.71
209-28 1 3/4 45 85 49.2 22 19 30.2 8 M8X1. 0 31850 20800 0.68
209 0. 65
S - RS - : UC210-30 17/8 0.85
7 PR B 7 % SR () W24 L3 b o o 210-31 1 ré/m o i 0.76
210 50 90 51.6 23 19 32.6 10 MI10X1. 0 35100 23200 0.74
25 d a e W m s t £ (min) B n HAS LiURss Ve (kg) 210-32 2 0.71
ezl i=s3 2 il 1
SBPFT201 12 81 | 635 [ 285 | 14 | 7.1 | a0 | 49 | 22 | 6.0 | w6 SB201 PFT201 0.19 <k I 100 55.6 2 2.2 33.4 10 MI0X1. 0 13550 29200 o
Dilil=515 2 3/16 0.93
SBPFT202 15 81 63.5 | 28.5 | 14 7.1 | 4.0 49 22 6.0 M6 SB202 PFT202 0.18 Uc212-36 2 1/4 L5l
515*38 2 3/8 60 110 65. 1 247l 25.4 39.7 10 M10X1. 0 47800 32800 lli:
SBPET203 17 81 63.5 | 28.5 14 7.1 4.0 49 22 6.0 M6 SB203 PFT203 0. 17 A 2 7/18 1.27
UC;}‘:%O 2 172 65 120 65. 1 28 25.4 39.7 10 M10X1. 0 57200 40000 L Z;
SBPFT204 20 90 71.5 | 33.0 | 16 9.0 | 4.0 56 25 7.0 M8 SB204 PFT204 0. 24 .
UL;;IM 2 34 70 125 74.6 29 30.2 44.4 12 MI2X1. 5 60800 45000 ig;
SBPFT205 25 95 76.0 | 35.0 | 18 9.0 | 4.0 60 27 7.5 V8 SB205 PFT205 0. 28 o =
21.“:)747 2 15/16 75 130 7.8 30 Ak & 44.5 112 M12X1. 5 66000 49500 Z 17
SBPFT206 30 113 | 90.5 | 40.0 | 18 | 11.0 | 5.2 71 30 8.0 | M0 SB206 PFT206 0. 44 e 3 LI
UC;;S%O 31/8 80 140 82.6 o) 3393 49.3 12 M12X1. 5 71500 54200 0
SBPFT207 35 122 | 100.0 | 44.5 | 20 | 11.0 | 5.2 81 W 8.5 M10 SB207 PFT207 0. 58 i :
U(’g}; 52 3 1 85 150 85.7 35 34.1 51.6 12 MI2X1. 5 83200 63800 3.38
UC218-56 3 1/2 . 2 . y — y By B - _ 4.1
218 90 160 96. 0 37 39.7 56.3 12 M12X1. 5 95900 71500 1.0
Ucz20 100 180 108 40 42 66 12 M12X1. 5 122000 92800 6.1

<32 Vo L = IR - S < 000000000000 0000000000000 0000000000000 0000000000000 00so00sossos o B a454+— #HAxtw www.ok-bearing.com 33>



FKD m&-imit

CHINA-HEBEI

BEARING

7 T 22 R ER T ERAH K

UCXO00 (medium-duty)

7 G2 A BR 1T BR A 7
Ball Bearings

UC 300 (heavy-duty)

Bi

m@E- it FKD

CHINA-HEBEI| BEARING

Ball Bearings
" Bi
(with setscrews) 2ds
i/
g
m
d| D
i 4% - wEsh | B | g g
- : T R < (2 i i | BUEBEAT | g
i}l}ﬂ/?ﬂfﬁﬁ Shaft Dia. &I\IBR J (%*) Basic Dynamic [Basic Static £Wei mi
Sasing F Dimensions (mm) Load Rating |Load Rating| (%
' Gn) [ (o) D Bi Be n m T ds ™ ™
HER05 25 62 38,1 19 15.9 22.2 5.0 M6X1. 0 19500 11200 0.37
X05-16 1 25 38. : 5. ¢ ¥ 6. £ 99 e
1CX06
X06-19 13/16 | 30 72 2.9 20 17.5 25.4 6.5 MSX1. 0 25700 15200 0.54
X06-20 11/4
UCX07-20 11/4
X07-22 13/8
e 35 80 19.2 21 19.0 30.2 8.0 M8X1. 0 29600 18200 0.71
X07-23 17/16
UCX08-24 11/2
s 10 85 9.2 22 19.0 30.2 8.0 MSXL. 0 31800 20800 0.79
UCX09-27 1 11/16
X09-28 13/4 15 90 5.6 23 19.0 32.6 10 MI10X1. 0 35100 23200 0.92
X09
UCX10-31 1 15/16
X10 50 100 55.6 2 22.2 33.4 10 MI0X1. 0 43500 29200 1.20
X10-32 2
UCx11
X : 110 65. 1 27 25.4 39.7 10 MI0X1. 0 47800 32800 1.63
X11-35 2 36 || 22 > 5 sith M10XL. - 6
X11-36 2 1/4
Uex12
s 2 j 120 65. 1 28 25.4 39.7 10 MI10X1. 0 57200 40000 1.95
X12-38 9 3/8 60 b {54, 2, A . 5 L9t
X12-39 2 7/16
UCX13-40 21/2 X _
s 65 125 74.6 29 30.2 14.4 12.0 MI2X1. 5 60800 145000 2,32
UCX14-44 2 3/4 . ) )
. 70 130 7.8 30 33.3 1.5 12.0 MI2X1. 5 66000 19500 2.53
UCX15
X15-47 215/16 | 75 140 82.6 33 33.3 49.3 12.0 MI2X1. 5 71500 51200 3.06
X15-48 3
Lo 80 150 85.7 35 34.1 51.6 12.0 W12X1. 5 83200 63800 3.61
leiso 31/8 . b . ol. . 1 .90 .
rexi? 85 160 96.0 37 39.7 56.3 2 WI2X1. 5 95900 71500 4.55
X17-52 31/4 5 3 7 N 56. 12.0 .5 5 5 . 5¢
UCX18-56 31/2 i
- 90 170 104.0 39 42.9 61.1 16.0 MI4XL. 5 109000 82800 5.42
texeo ) 190 117.5 13 19.2 68.3 18.0 WI6XL. 5 133000 105000 7.6
0-61 . 100 ¢ 5 z; o : XL.5 3: 5 :
o 8o L o P wh
<34 FAFADB 75 @ # G 4 R F Al B8 T e

2-ds
(with setscrews)
m
d| D
i
L ., 2o WERN GG | BUETH AT | - o
1=/ . 7 ] = 25 D . &F o H
*};H/;Mﬁ’f Shaft Dia. &I\E/Rj—(%*) Basic Dynamic [Basic Static %Vei hti
e;gmg d Dimensions (mm) Load Rating [Load Rating <k§>
' Gn) | @ D Bi Bo n n G & ™ ™
He 2 62 38 20 15 23 6 M6X1. 0 22400 500 0.34
305-16 1 ' : ° ¢ . 22 115 *
UC306-18 11/18
306 30 72 13 23 17 2 6 M6X1. 0 26500 15200 0.52
306-20 11/4
UC307-20 11/4
307-22 13/8 35 80 48 2 19 29 8 M8X1. 0 33300 19200 0.68
307
UC308-24 11/2 .
. 10 90 52 27 19 33 10 MI0X1. 0 10600 23700 0.95
UC309-28 13/4 1.22
55 45 100 57 30 22 35 10 MI0X1. 0 18600 28900
UC310-31 1 15/16
310 50 110 61 32 22 39 12 MI2X1. 5 61700 37800 157
310-32 2
UC311-32 2 ) . . . . e -
a1 55 120 66 34 25 a1 12 MI2X1. 5 71500 44800 198
Hestz 60 130 71 36 26 45 12 MI2X1. 5 81600 51800
b A 5] L L
312-36 2 1/4 L 218 240
UC313-40 2 1/2 ) . ) : - i
o 65 140 75 38 30 15 12 MI2X1. 5 93700 60400 314
UC314-44 2 3/4 , ,
o1 70 150 78 10 33 15 12 MI2XL. 5 103600 67100 3.62
tests 75 160 82 12 32 50 14 M14X1. 5 2800 5
it . ; : 5 .5 112800 75700 4.50
uesie 80 170 86 14 34 52 14 M14X1. 5 2350 :
316-50 3 1/8 ‘ 5 .5 123500 88200 5.2
Hesly 85 180 96 16 10 56 16 MI16XL. 5 3: 55 .6
i o 3 : ¢ 5 .5 133000 96500 6.63
UC318-56 3 1/2 ) - s -
s 90 190 96 18 10 56 16 MI6X1. 5 144700 110600 7.93
UC319 _
95 200 103 50 41 62 16 MI6X1. 5 156600 122000 8.37
{20 100 215 108 54 12 66 18 MI6X1. 5 :
320-64 4 h - A -9 171600 141000 10. 32
UC322 110 240 117 60 16 71 18 MISXL. 5 205000 179000 14.2
UC324 120 260 126 64 51 75 18 MISXL. 5 227000 207000 18. 20
UC326 130 280 135 68 54 81 20 M20X1. 5 253000 241000 22.50
Uc328 140 300 145 72 59 86 20 M20X1. 5 274000 272000 29.4
_________________________________________________________________________________ T a#%+— At www.ok—-bearing.com 353



FKD m&-imit

BEARING [CHINA-HEBEI

ity Ji /L 2 A1 BR T Bk Al K

HC 200 (normal-duty)

iy [ HEFL A BR 1 BR A

UK 200 (normal-duty)

m@E- it FKD

JCHINA-HEBEI

BEARING

Ball Bearings UK Ball Bearings Be
. . . e T
(with eccentric locking coller) (with tapered bore)
H ds I
= | \
G
1
Y,
n m i z
D|d K
- ) P FisE i 7 .
B R SIS (K e e e
Bearing Shaft Dia. Dimensions (mm) ; : Weight
r N No ensions Load Rating Load Rating (kg)
d_(um) D Bi Be Bi (TRL) T ™
B UK205 2 52 25 17 2 4.2 14000 7850 0.16
! L Y 1t ¢ ) HE B T4 AT | o
Tl AL S - p= 2 4
WVR“‘ 5 Shaft Dia. M\}B)\ \J (=X Basic Dynamic [Basic Static q;;] il .
Be;rlng a Dimensions (mm) Load Rating [Load Rating (Elig)n
o. - - = (N) )
Gn.) | Gom) D Bi Be o o L k i G ds UK206 30 62 28 19 27 5.2 19450 11250 0.25
10203
3; ; 3 ; 33.1 3.5 M6) 12800 665
S . 17 47 3.7 16 17.0 17.0 9.5 33.3 13.5 5.0 16X1 2 50 0.25
He204-12 | 3/4 0.23 ) . . . . , . ~
504 20 47 43.7 16 17.0 17.0 9.5 33.3 13.5 5.0 M6X1 12800 6650 0.9 UK207 35 72 30 20 30 5.6 25700 15200 0. 36
He205-14 | 7/8 0.29
205-15 | 15/16 . . . . A - . 0.27
o 25 52 44.4 17 17.4 17.4 9.5 38. 1 13.5 5.0 M6X1 14000 7880 e UK208 40 80 32 21 31 6.2 29600 18100 0. 44
205-16 1 0.25
HC206-18 | 1 1/8 0.43
- . UK209 45 85 33 22 36 6.3 31850 20800 0.51
30 62 48.4 19 18.3 18.2 1.9 4.5 15.9 6.0 V8X1 5 p :
206-19 1 3/16 D @ 19500 11200 0.41
206-20 | 1 1/4 0.38
HC207-20 | 1 1/4 0.68 UK210 50 90 35 23 36 6.5 35100 23200 0.56
20723 | V38 | g 72 51.1 20 18. 8 18.8 13.5 5.6 17.5 6.5 M8X1 257 52 Bl
207 3¢ al. . & 3.9 20, ) . ), 5700 15200 0.61
207-23 | 17/16 0.58
UK211 55 100 37 2 40 7.0 43550 29200 0. 74
HC208-24 11/2 B R B 0.83
40 80 56. 3 21 21.4 21.4 13.5 60. 3 18.3 6.5 M8X1 29600 18200 0.79
s 0.78
HC209-26 | 1 5/8 0.96 UK212 60 110 40 27 47 7.0 47800 32800 1.00
chlr || G 85 56. 3 2 21.4 21.4 13.5 63.5 18.3 6.5 vsx1 31850 20800 o
209-28 | L34 | ' o : : o -0 a - " 185 0.87
209 0.85
UK213 65 120 42 30 47 8.5 57200 40000 127
HC210-31 [ 1 15/16 1.04
210 50 90 62.7 23 24.6 24.6 13.5 69.9 18.3 6.5 M8X1 35100 23200 1.01
210-32 2
UK215 75 130 45 32 51 9.2 66000 19500 1.52
HC211-32 2 1.58
211 55 100 71.4 2 27.7 27.7 15.9 76.2 20.7 8.0 M10X1 43550 29200 1.39
211-35 | 2 3/16 1.36
e | 3 505 UK216 80 140 45 33 55 9.6 71500 53300 1.84
212 60 110 7.8 27 30.9 30.9 15.9 84.2 22.3 8.0 M10X1 47800 32800 1.87
212-39 | 2 7/16 1.76
He213-40 | 2 1/2 UK217 85 150 47 35 57 10.5 83200 63800 2.34
o 65 120 85.7 28 34.1 34.1 17. 1 86 23.5 8.5 M10X1 57200 40000 2.51
HC215-47 | 2 15/16
215 75 130 92.1 30 37.3 37.3 17. 1 102 23.5 8.5 M10X1 60800 45000 2.74 UK218 90 160 50 a7 63 o 95900 71500 2.85
215-48 3
<36 FIFIB 715 @ % B 4 5K % 2 B3 T oo oo B ax4— At www.ok-bearing.com 373



FKD m&-imit m@E- it FKD

BEARING [CHINA-HEBEI]|, .ICHINA-HEBEI|| BEARING

7 i /Lo B2 BR Al 7
1SR R A K SER 200 (normal-duty) Ball Bearings
Ball Bearings (with eccentric collar)

(with locating snap ring)

E
a
-
/
et -
R 2-ds " :
h SA 200 (light-duty) CSA 200 (light-duty) SA 200G
———’<—
‘ G Spherical O.D. Cylindrical O.D. Relubricatable type
L Nsiamp (e ’
/7 { I’ Bi Bi h
! _ |ds _ | ds
n m : G z_é_
Bi Y = - ﬁ
oL@ a1’ ) i ~/
! n m n m
B. B
. H D|d K D| d K
i
i
- i
Be
B¢ |
L 1 b i
L 2 R~ ( Bk e g | BUEHG | £ o |
i T AL L 5 2, N = L T U ] =
%IUR{-\‘ g Shaft Dia. 9])’\71:/}\ J ( “'—(K)) Basic Dynamic Basic Statiq V;E‘i hr% H H
ol = imensions (mm Load Rating |Load Rating| ") % | ) { . %LL
G ][ D Bi | Be n u E a h R ] P B s (ke) (ke) — —+
N Be Be ;
SER201
i | i 12 17 3.0 | 159 | 115 | 195 | 1209 | 107 | 40 | 414 | 246 | 527 | 50 M6X1. 0 1010 630 0.22
L . - BoEh g | BUE iR S
SER202 5 T 2 RSF (2 ; S ERIIUT |5 B
- _ 15 47 31.0 15.9 1.5 19.5 | 12,09 | 1.07 1.0 114 | 2.46 | 52.7 5.0 M6X1. 0 1010 630 0.22 %ﬁg}f Shaft Dia. &I\.RR—.J‘({*) Basic Dynamic |Basic Static Weight
20210 | 5/8 i g Dimensions (mm) Load Rating |Load Rating| (%
SER203 ) (in.) | (mm) Be D Bl n m Bi K H G h ds ) )
| o 47 3.0 | 159 | 1.5 | 195 | 12209 | 1.07 | 40 | 414 | 246 | 527 | 5.0 M6X1. 0 1010 630 0.22 SA201 X - .
203-11 | 11/16 oL T 12 12 10 19.1 6.0 13.1 2.6 | 28.6 13.5 5.0 3.6 WXL, 0 9600 1600 0.13
SER204-12 | 3/4 SA202 . p . ; - = . o : . p
ot 20 47 3.0 | 159 | 1.5 | 19.5 | 12,09 | 1.07 4.0 414 | 2246 | 52.7 5.0 M6X1. 0 1010 630 0.21 209-10 5/8 15 12 10 19.1 6.0 13.1 28.6 28.6 13.5 5.0 3.6 M6X1. 0 9600 4600 0.12
SA203 _ .
SHOENA | T e | i, | B 12 40 19.1 6.0 13.1 28.6 | 28.6 13.5 5.0 3.6 M6X1. 0 9600 14600 0.10
20515 | 15/16 SA20412 | 3/4 ‘ . . . . B
. 2% 52 3.9 | 191 | 10 | 28 | 1s29 | nor | 52 | a7 | 246 | 579 | 56 M6X1. 0 1100 710 0.27 204 e i o bt &E e || oW e T i - s R (e Gy
&2 SA205-14 | /8
205-16 | 1 205 25 15 52 21.5 7.5 14 31.0 38.1 13.5 5.0 13 M6X1. 0 14000 7880 0.19
SER206-18 | 1 1/8 205-16 1
206 i
’ 30 62 38.1 | 222 | 159 | 222 | 17.02 | 165 56 | 592 | 3.8 | 6.7 | 5.6 M6X1. 0 1530 1020 0.39 */‘j::: 18 | 11/8
206-19 | 1 3/16 . ) . 9 ) 35 4“5 5 ; 5 : . .
cieio | 1ame | 2 16 62 23.8 9.0 14.8 | 357 14.5 15.9 6.0 5 MBX1. 0 19500 11200 0.30
206-20 | 1 1/ 20620 | 11/4
SER207-20 | 1 1/4
20722 | 1 3/8 42073
35 72 429 | 238 | 175 | 254 | 1862 | 1.65 | 56 | 672 | 3.28 | 8.6 | 6.4 MSX1. 0 2020 1390 0.56 SA%V?: : %
207 o : 35 17 72 25.4 9.5 15.9 | 38.9 55.6 17.5 6.5 5.7 M8X1. 0 25700 15200 0.45
207-23 | 1 7/16 207-23 | 17/16
SER208-24 | 1 1/2
o8 10 80 9.2 | 278 | 19.0 | 30.2 | 2262 | 1.65 | 6.4 | 872 | 3.28 | 866 [ 8.0 MSX1. 0 2280 1590 0.72 SA208-24 | 1 1/2
20825 | 19/16 | 40 18 80 30. 2 11 19.2 | 3.7 | 60.3 18.3 6.5 6.2 M8X1. 0 29600 18200 0.60
SER209-26 | 1 5/8 208
209-27 |1 11/16
45 85 9.2 | 278 | 19.0 | 30.2 | 2262 | 1.65 | 6.4 | 872 | 328 | 916 | s.0 MSX1. 0 2560 1810 0.90 SA209-26 | 1 5/8
20928 | 13/ 209527 |ILAL/I6 || 45 19 85 2 9.2 | 4 63.5 8.3 6.5 5.8 MBXL. 0 3185 p 0.64
o b 5 ¢ 5 30. 1 19. 3.7 3.5 18 6.5 6. 8X1. 31850 20800 )
209-28 | 1 3/4
SER210-30 | 1 7/8
210-31 |1 15/16] _ o = I I R _ o o B . . ‘ SA210-30 | 17/8
595 0|90 BLE | 286 | 1900 826 | 22,62 | 241 | T5 ] 832 | .28 | 965 | 9.5 | MIONLO 2150 2020 0-93 21031 |1 15/16| 350 20 9% 30.2 1 9.2 | 3.7 | 699 | 183 | 65 6.5 MBXL. 0 35100 23200 0.71
210
21032 2
SER211-32 | 2 SAZ11-32 2
211 55 100 | 55.6 | 30.2 | 222 | 33.4 | 2422 | 241 | 7.5 | 912 | 3.28 | 106.5 | 95 MI10X1. 0 3400 2550 1.29 ;}}’34 ZUA | g 21 100 32.5 12 2.5 | 48.4 6.2 | 20.7 8 7.2 ML0X1. 0 43550 29200 0.87
211-35 | 2 3/16 211-35 | 2 3/16
SER212-36 | 2 1/4
212 60 110 | 651 | 318 | 254 | 39.7 | 2582 | 241 | 7.5 | 992 | 3.28 | 166 | 1.1 [ wmiox1.0 4100 3150 i, 7l SA212-36 | 2 1/4
A 212 . _
212-39 | 2 2 a7 21. . M10XI. 3 o
39 |2 7/16 S [P o 22 110 3.2 | 135 21.4 | s3.1 8.2 | 22.3 8 8 MI10X1. 0 47800 32800 1.3
212-39 | 2 7/16

38 VL = R - S < 000000000000 0000000000000 0000000000000 0000000000000 o00sossos OO oo E axt— At www.ok-bearing.com 393



FKD

BEARING

ME ot

CHINA-HEBEI

i T 22 B
Ball Bearings

(with setscrews)

ME - ot

CHINA-HEBEI

FKD

BEARING

+H- N
Hi W DB BR K
Ball Bearings
(with eccentric collar)
GRA200 GRA200G RA200
c h
~h
i ey L
NE !
5| '
B : o
ol o =g t-—Hf - 1 =
!
!
b
L
Bs
P df
By (+IF%F)
i SR ) G
HIRAC ] - p o
. D c h S Bi B B3 di g | B | (ke
(in.) | (mm) Cx Cor
GRA201 12 0. 14
RA201-8  [1/2 0. 14
202 15 40 12 3.6 6.5 28.6 19. 1 13.5 28.6 9550 4780 | 0.13
202-10  |5/8 0.13
203 17 0.13
203-11  |11/16 0.13
GRA204-12 [3/4 0. 18
S 20 47 14 4 7.5 30.9 21.4 13.5 33.3 12800 | 6560 | ;2
GRA205-14 [7/8 0.22
582*10 15/16 | 95 52 15 4.3 7.5 30.9 21.4 13.5 38.1 14000 | 7880 8-{%
205-16 |1 0.18
GRA206-18 |1-1/8 0.35
RA206 0.33
500-19 |13/16 | 20 62 18 5 9 35.7 23.8 15.9 44. 5 19500 | 11200 | (-2
206-20 |1-1/4 0. 29
GRA207-20 |1-1/4 0.56
RA207-21  |1-5/16 0.53
207-22 1-3/8 35 72 19 5.7 9.5 38.9 25.4 17.5 55. 6 25700 | 15200 | 0.51
207 0.50
207-23 1-7/16 0.48
GRA208-24 |1-1/2 0. 68
RA208-25 [1-9/16 | 40 80 21 6.2 11 43.7 30. 2 18.3 60. 3 29600 | 18200 | 0.67
208 0. 65
GRA209-26 |1-5/8 0. 82
RA209-27  [1-11/16 o : ; o7 7 , o RAGE : 0.76
oon | B 85 22 6.8 11 43.7 30. 2 18.3 63.5 31850 | 20800 | )10
209 0. 69
GRA210-30 |1-7/8 0. 85
RA210-31 [1-15/16] 50 90 22 6.5 11 43.7 30. 2 18.3 69. 9 35100 | 23200 | 0.83
210 0.79
GRA211-32 |2 1.18
RAg%%*34 2-1/8 | 55 100 24 7.2 12 32.5 32.5 20.7 76. 2 43550 | 29200 8-22
211-35  [2-3/16 0.81
GRAZ1236 [2-1/4
RA212 _ _ , _
212-38  |2-/8 60 110 24 8 13.5 37.5 37.5 22.3 84.2 47800 | 32800 | 1.35
21239 [2-7/16

<40

FADB #-#% @ # & 44 & % & 4 & &

SB 200 (light-duty) CSB 200 (light-duty) SB 200G
Spherical O.D. Cylindrical O.D. Relubricatable type
Be h
- Be ————1——
G G -
2-ds |t 2-ds !
= s " -
e - fﬂ
D 4- d - d
N L/ ) N thJ
n m n m
Bi Bi
MR % p= ) BoEh g | BUE iR G =
= 5 e =13 Y Sl A Sl 2 o
%H/%ﬁv Shaft Dia. &I\E/Rﬁ—({*) Basic Dynamic [Basic Static %Vei hti
e;glng d Dimensions (mm) Load Rating |Load Rating <k§>
) (in.) (mm) Be D Bi n m G h ds ) )
SB201 ] ] ] o B
it 7 12 12 40 22 6.0 16.0 4.5 3.6 M5X0. 8 9600 4600 0.10
$B202 ) N ) X B o . i i
20910 58 15 12 10 22 6.0 16.0 4.5 3.6 W5X0. 8 9600 1600 0.09
SB203 N ) )
- i || 12 10 22 6.0 16.0 45 3.6 M5X0. 8 9600 1600 0.08
SB204-12 3/4
o 20 14 47 25 7.0 18.0 4.5 3.9 M6X1. 0 12800 6650 0.12
SB205-14 7/8
205 1 2 15 52 27 7.5 19.5 5.5 3.9 M6X1. 0 11000 7880 0.16
205-16
SB206-18 11/8
o L3161, 16 62 30 8.0 22.0 6.0 5.0 M6X1. 0 19500 11200 0.25
206-19 1 1/4
206-20
SB207-20 1 1/4
a2z TR 17 72 32 8.5 23.5 6.5 5.5 M8X1. 0 25700 15200 0. 36
207 1 7/16
207-23
SB208-24 11/2
i 40 18 80 34 9.0 25.0 7.0 6.0 M8X1. 0 29600 18200 0.45
SB209-26 15/8
20521 Lu/e] 19 85 1.2 10.2 31.0 8.2 6.3 MSX1. 0 31850 20800 0.56
209 1 3/4
209-28
SB210-30
210731 L8 5 20 90 43.5 10.9 32.6 9.2 6.5 M8X1. 0 35100 23200 0.62
210 1 13/16
210-32 2
SB211-32
ke 2 55 21 100 45.3 11.8 33.5 9.8 7.2 M8X1. 0 43550 29200 1.1
211 2 1/8
211-35 2 3/16
SB212 ] N ‘
196 s | 60 22 110 53.7 14.9 38.8 9.8 8 MI0X1. 0 47800 32800 1.3
_________________________________________________________________________________ B ax%4+— At www.ok-bearing.com 41>



FKD

BEARING

ME ot

CHINA-HEBEI

VGRIIER

AGRI-BEARING
SQUARE BORE WITHOUT GREASE NIPPLE

ii' i
rmax2s X |
B C

C B

T Q\\ T S I 5 T RS

@) @) »

; ! |

o - o o 1 -—}—«- o 1 —-—{-—_

i i

[ i

| | |

A W S : (3 : 1 e - -

B B
TYPE1 TYPE2 TYPE3 TYPE4
) — WS 9 2 4
SR (ZEK) %)\E'LJ]J fif AE A A =B
AR E=] Dimensions (mm) Basic Load Basic Statie Heion
Bearing No. Type Rating Load Rating
i d1 D B &6)
CR (KN) COR (KN)

W208PPB13 1 22.970 24. 000 80. 000 18. 00 36. 53 22.71 15.94 0. 690
W208PPB6 1 26. 000 28. 000 80. 000 18. 00 6. 93 22.71 15.94 0. 652
W208PP6 3 26. 000 32.000 80. 000 18. 00 8633 22 Tl 15. 94 0. 662
W208PPB5 i Zie) i) 32. 000 80. 000 18. 00 36. 53 22l 15. 94 0. 590
W208PPB8 1 29. 970 32. 000 80. 000 30. 18 36 53 22.71 15.94 0.735
W208PP5 3 29. 970 32. 000 80. 000 18. 00 36. 53 22. 11 15. 94 0. 600
W208PP20 3 29. 970 32. 000 80. 000 18. 00 36. 53 2207 15. 94 0. 681
W208PP8 3 29. 970 32. 000 80. 000 30. 18 S5 (31! 22001 15. 94 0. 709
W209PPB5 1 33. 000 32.000 85. 000 30. 18 36. 53 24. 36 17.11 0. 945
W210PP4 4 29. 970 32.000 100. 000 30. 18 30. 18 27.50 20. 20 1. 049
W210PPB6 i 29. 970 32. 000 90. 000 30. 18 9b: B3 21,50 20. 20 O 7
W210PPB4 2 29. 970 32. 000 90. 000 30. 18 30. 18 2150 20. 20 0. 846
W211PPB3 2 38. 890 42.000 100. 000 33. 34 33. 34 33.40 25.10 1. 208
W211PP3 4 38. 890 42. 000 100. 000 33. 34 33.34 33.40 25.10 1. 271
W211PP5 3 38. 890 42.000 101. 600 44. 45 44. 45 33. 40 2510 1. 302

20414 B) S Bl 80 18 (el 36! 25. 09 19. 82 0. 652
<42 FAFADB 7 5 @ # G b R F e B8 T e

FKD

BEARING

ME - ot

CHINA-HEBEI

R BR A A
Deep Groove Ball Bearing

]
[ s lle:
@1 | G/ ®
D == = cti D
L o |
Open zZ 2RS NR
it 5 x W R b # & fi i N
Bearing No. Boundary dimensions (mm) Basic load ratings (KN) Weight
OPEN Y4 2RS NR d D B rsmin Cr Cor kg
6000 iz 2RS NR 10 26 8 0.3 4.55 1.96 0.019
6001 iz 2Rs NR 12 28 8 0.3 5. 10 2.39 0. 021
6002 iz 2RS NR 15 22 9 0.3 5.60 2.84 0. 030
6003 £ 2RS NR 17 35 10 0.3 6. 80 3.35 0. 039
6004 Tl 2RS NR 20 42 12 0.6 9. 40 5.05 0.069
6005 (i 2RS NR 25 47 12 0.6 10. 10 5.85 0. 080
6006 Tl 2RS NR 30 55 13 1 13. 20 8. 30 0.116
6007 1, 2RS NR 35 62 14 1 16.0 10. 3 0. 155
6008 Zz 2RS NR 40 68 15 i 16. 8 11.5 0. 190
6009 ZZ 2RS NR 45 75 16 1 21.0 15, 1 0. 237
6010 7L 2RS NR 50 80 16 1 21:8 16. 6 0.261
6011 i 2RS NR 55 90 18 1.1 28.3 21.2 0. 388
6012 77 2RS NR 60 95 18 1.1 29.5 23.2 0.414
6013 iz 2Rs NR 65 100 18 1.1 30.5 25.2 0.421
6014 77 2RS NR 70 110 20 1.1 38.0 31.0 0. 604
6015 A 2RS NR 75 115 20 1.1 39.5 233. 5 0. 649
6016 17 2RS NR 80 125 29 1.1 47.5 40.0 0. 854
6017 /i 2RS NR 85 130 22 1: 1 49.5 43.0 0. 890
6018 L 2RS NR 90 140 24 1.5 58.0 49.5 1.02
6019 27 2RS NR 95 145 24 1.6 60. 5 54.0 1. 08
6020 A 2RS NR 100 150 24 1.5 60.0 54.0 1.15
6021 744, 2RS NR 105 160 26 2 2.8 65. 5 1. 59
6022 iz RS NR 110 170 28 2 82.0 73.0 1. 96
6024 i 2RS NR 120 180 28 2 85.0 79.5 2. 07
6026 i 2RS NR 130 200 33 2 106.0 101.0 3.16
6028 Zz 2RS NR 140 210 33 2 110.0 109.0 3. 35
6200 1z 2RS NR 10 30 9 0.6 5.1 2.39 0.032
6201 i 2RS NR 12 32 10 0.6 6.1 2. 75 0.037
6202 i 2RS NR 15 35 11 0.6 ¥ 0 3. 60 0. 045
6203 Y, 2RS NR 17 40 12 0.6 9. 60 4. 60 0. 066
6204 7z RS NR 20 47 14 1 12. 80 6. 65 0. 106
6205 ZZ 2RS NR 25 52 15 1 14.0 7.85 0.128
6206 L, 2RS NR 30 62 16 1 19.5 11.3 0. 199
6207 77 2RS NR 35 72 17 1.1 25.7 15.3 0. 288
6208 ) 2RS NR 40 80 18 1.1 29, 1 17.8 0. 366
6209 77 2RS NR 45 85 19 1.1 22: D 20.4 0. 398
6210 Y, 2RS NR 50 90 20 1.1 35.0 23.2 0. 454
6211 L, 2RS NR 55 100 21 1.5 43.5 29.2 0.601
6212 I 2RS NR 60 110 22 1.5 52.5 36.0 0. 783
6213 i 2RS NR 65 120 23 1.5 57.5 40.0 0. 990
6214 i 2RS NR 70 125 24 1.5 62.0 44.0 1.07
6215 MY, 2RS NR 5 130 25 1.5 66. 0 49.5 1. 18
6216 Iy 2RS NR 80 140 26 2 72.5 63. 0 1. 40
6217 WL 2RS NR 85 150 28 2 83.5 64. 0 1.79
_________________________________________________________________________________ B a44— At www.ok-bearing.com 43>



FKD

BEARING

ME ot

CHINA-HEBEI

it 5 x* 7 R o) H PN i Niis

Bearing No. Boundary dimensions (mm) Basic load ratings (KN) Weight
OPEN zz 2RS NR d D B rsmin Cr Cor kg
6218 L, 2RS NR 90 160 30 2 96. 0 71.5 2.15
6219 74 2RS NR 95 170 32 2.1 109.0 82.0 2.62
6220 i 2RS NR 100 180 34 24 122. 0 93.0 3. 14
6221 Zz JRS NR 105 190 36 2.1 133.0 105.0 31
6222 A 2RS NR 110 200 38 2.1 155.0 117.0 4. 36
6224 17 2RS NR 120 215 40 2.1 167.0 131.0 5. 15
6226 Z 2RS NR 130 230 40 3 167.0 146.0 5. 82
6300 i 2RS NR 10 35 11 0.6 8.2 3.5 0. 053
6301 Ll 2RS NR 12 37 12 1 9.7 4.2 0. 060
6302 L, 2R5 AR 15 42 13 1 11. 4 5.45 0. 082
6303 47, 2RS NR 17 47 14 1 13.5 6. 55 0.115
6304 A 2RS NR 20 52 15 1.1 15.9 7.9 0. 144
6305 1, 2RS NR 25 62 17 1ol 21. 2 10.9 0.232
6306 i7 2RS NR 30 2 19 1. 1 26 1 15.0 0. 360
6307 L, 2RS NR 35 80 21 1.5 33.5 19. 1 0. 457
6308 7 Z2RS NR 40 90 23 I. & 40. 5 24 0.630
6309 /7 2RS NR 45 100 25 1.5 83.0 32: 0 0.814
6310 L, 2RS NR 50 110 27 2 62.0 38.5 1.07
6311 7 2RS NR 55 120 29 2 1.5 45.0 1.37
6312 11, 2RS NR 60 130 31 2: 1 82.0 52.0 1. 73
6313 474 285 NR 65 140 o8 2.1 92.5 60. 0 2.08
6314 7 2BS NR 70 150 30 2.1 104.0 68. 0 2.52
6315 1L, RS NR 75 160 o1 2:1 113: 0 77.0 3.02
6316 742, 2RS NR 80 170 39 2.1 123.0 86. 5 3.59
6317 7z 2RS NR 85 180 41 3 133.0 97.0 4.23
6318 L 2RS NR 90 190 43 3 143.0 107.0 4.91
6319 7 2RS NR 95 200 45 2 153.0 119.0 5.67
6320 72, 2RS NR 100 215 47 3 173.0 141.0 7.00
6321 ik 2RS NR 105 225 49 3 184.0 153.0 8.05
6322 i 2RS AR 110 240 50 3 205. 0 179.0 9.54
6324 L 2RS NR 120 260 513 3 207.0 185.0 12. 4
6326 i 2RS NR 130 280 58 4 229.0 214.0 15. 3
6328 JHt 2RS NR 140 300 62 4 253.0 246.0 18.5
6403 27 2RS NR 17 62 17 1.1 22. 1 10. 8 0.270
6404 T2, 2R5 NR 20 72 19 1. 28.5 13.9 0. 400
6405 27 A NR 25 80 21 1N 34.5 17. 5 0.530
6406 i 2RS NR 30 90 23 a 43.5 23: 9 0.735
6407 T2, 2RS NR 35 100 25 1.5 55.0 31.0 0. 952
6408 Z7 2RS NR 40 110 A 2 63.5 36.5 L. 25
6409 77 A NR 45 120 29 2 ¥: 0 45.0 1.53
6410 Y, 2RS NR 50 130 3l 2.1 83.0 49.5 1. 88
6411 U 285 NR 55 140 38 2.1 89.0 54.0 2.29
6412 77 2RS NR 60 150 35 2:1 102.0 64. 5 2: 17
6413 7 2RS NR 65 160 37 2.1 111.0 72.5 3. 30
6414 7z 2RS NR 70 180 42 3 128.0 89.5 4. 83
6415 77, 2RS NR 75 190 45 3 138.0 99.0 5. 72
6416 Zz 2RS NR 80 200 48 2} 164. 0 125.0 6.76
6417 , 2RS NR 85 210 52 4 165.0 128.0 7.95
6418 ZZ 2RS NR 90 225 54 4 184.0 149.0 114

{44

AAB # % & # & #h R % L # & &

PR TR

SPHERICAL ROLLER BEARING

B —

ME - ot

CHINA-HEBEI

FKD

BEARING

HEERNECEs
W33 KMW33
A= =E = IR =B A= SE =z R S R
Bearing No. Boundary dimensions (mm) Weight Bearing No. Boundary dimensions (mm) Weight
Cylindrical| Tapered d D B (kg) Cylindrical| Tapered d D B (kg)
Bore Bore Bore Bore
22206 | 22206K 30 62 20 0. 26 22317 | 22317K 85 180 60 6. 72
22207 | 22207K 35 72 23 0. 39 22318 [ 22318K 90 190 64 8. 06
22208 | 22208K 40 80 23 0. 48 22319 | 2231 9K 95 200 67 ), &3
22209 | 22209K 45 85 23 0853 22320 | 22320K 100 Zils /3 1125 2
22210 | 22210K 50 90 23 0. 57 22322 | 22322K 110 240 80 17
22211 22211K 55 100 25 0.76 22324 | 22324K 120 260 86 22.2
222 1O E2 221 60 110 28 1. 04 22326 | 22326K 130 280 93 27. 4
222 I3 E22 24 B K 65 120 Sl 1.43 22328 | 22328K 140 300 102 34. 3
22214 | 22214K 70 125 31 1.51 22330 | 22330K 150 320 108 41.7
22215 | 22215K 75 130 31 1. 59 23022 | 23022K 110 170 45 3.7Th
22216 | 22216K 80 140 33 1. 93 23024 | 23024K 120 180 46 4. 11
22T || 222K 85 150 36 2.41 DINZZ, || 2SI 110 180 56 B I
22218 | 22218K 90 160 40 3t AL 23124 | 23124K 120 200 62 7.84
22219 [ 22219K 95 170 43 3.82 23126 | 23126K 130 210 64 8. 68
22220 | 22220K 100 180 46 4. 62 23128 | 23128K 140 225 68 10. 5
DRI, || BREE2IK 110 200 (558 6. 78 23130 | 23130K 150 250 80 15. 8
22224 | 22224K 120 215 58 8. 45 23132 [ 23132K 160 270 86 20. 3
22226 | 22226K 130 230 64 10. 5 23134 | 23134K 170 280 88 21. 8
22228 | 22228K 140 250 68 14. 5 23136 | 23136K 180 300 96 2t B
222308 F2: 223 0K 150 270 73 18. 4 23138 | 23138K 190 320 104 34.5
22308 | 22308K 40 90 33 0. 96 23140 | 23140K 200 340 112 42. 6
22309 | 22309K 45 100 36 1. 28 23218 | 23218K 90 160 52. 4 4. 52
22310 | 22310K 50 110 40 ¥ 867 23220 | 23220K 100 180 60. 3 & (5
22311 | 22311K 55 120 43 2.19 DSR2, || ZP2AK 110 200 69. 8 9. 54
22312 | 22312K 60 130 46 25 T2 23224 | 23224K 120 215 76 12. 1
22313 | 22313K 65 140 48 3. 34 23226 | 23226K 130 230 80 14. 3
22314 | 22314K 70 150 51 4. 04 23228 | 23228K 140 250 88 18. 8
22315 | 22315K 75 160 55 4. 96 23230 | 23230K 150 270 96 24. 2
22316 | 22316K 80 170 58 5.91
_________________________________________________________________________________ @D a4 +— Huxts www.ok-bearing.com

45>



FKD

BEARING

ME - ot

CHINA-HEBEI

I BRI
Thrust Ball Bearing
R S d ——e
| |
f
0 ! i T
J | !
. p |
Fl= x 7 R ) (mm) B S i fuf iy
- & Boundary dimensions Basic load ratings (KN) Weight
o . d D T rsmin Cr Cor kg
51100 10 24 9 0.3 10 14 0.021
51101 12 26 9 0.3 10.3 15.4 0.023
51102 15 28 9 0.3 10.5 16. 8 0. 024
51103 17 30 9 0.3 10. 8 18.2 0. 026
51104 20 35 10 0.3 14. 2 24.7 0. 040
51105 25 42 11 0.6 19.6 37.0 0. 060
51106 30 47 11 0.6 20. 4 42.0 0. 069
51107 35 85/ 12 0.6 20. 4 44.5 0. 085
51108 40 60 13 0.6 26.9 63.0 0.125
51109 45 65 14 0.6 279 69. 0 0. 148
51110 50 70 14 0.6 28.8 75,5 0. 161
51111 55 78 16 0.6 35.0 93.0 0.226
51112 60 85 17 1 41.5 113.0 0. 296
51113 65 90 18 1 41.5 117.0 0. 338
51114 70 95 18 1 43.0 127. 0 0. 356
51115 75 100 19 1 44.5 136.0 0. 399
51116 80 105 19 1 44.5 141.0 0. 422
51117 85 110 19 1 46.0 150.0 0. 444
51118 90 120 22 1 29.5 190.0 0. 687
51120 100 185 25 1 85.0 268.0 0. 987
BILILZZ 110 145 25 1 87 288 1.07
51124 120 155 25 1 89 310 1. 11
51126 130 170 30 1 104 350 1.73
51128 140 180 91 1 107 375 1.90
51130 150 190 31 1 109 400 2.00
51132 160 200 31 1 112 425 2.10
51134 170 215 34 1: 1 134 510 277
51136 180 225 34 1.1 135 525 2.92
51138 190 240 3T 1.1 170 655 3.5
51140 200 250 37 1.1 172 675 3.92
51144 220 270 37 1.1 177 740 4. 27
51148 240 300 45 1.5 228 935 6. 87
HIRI52) 260 320 45 1.5 232 990 7.38
5l156 280 350 53 1.5 305 1270 11.8
51160 300 280 62 2 355 1560 172

<46

AFAB # % & #

S F R Ab B B T e

ME -t

CHINA-HEBEI

FKD

BEARING

[ #E R 1l 7K
Tapered Roller Bearing .
__r/ ;—_
B\
D \ d
| o
ol EE i R ~J (mm) 5t S il i i
- Boundary dimensions Basic load ratings (KN) Weight
EeatE Bl d D T B Cc rsmin Cr Cor kg
30203 17 40 13.25 12 11 1 20.5 20.3 0. 080
30204 20 47 15.25 14 12 1 28.2 28.7 0. 127
30205 25 52 16. 25 15 13 1 31.5 34 0. 154
30206 30 62 17.25 16 14 1 43.5 48 0. 241
30207 35 72 18. 25 17 15 1.5 55.5 61.5 0. 344
30208 40 80 19.75 18 16 1.5 61 67 0. 435
30209 45 85 20. 75 19 16 1.5 67.5 78.5 0. 495
30210 50 90 21.75 20 17 1.5 7 93 0.563
30211 55 100 22.75 21 18 2 93 111 0.74
30212 60 110 23.75 22 19 2 105 125 0. 949
30213 65 120 24.75 23 20 2 123 148 1.18
30214 70 125 26. 25 24 21 2 131 162 1. 26
30215 75 130 27.25 25 22 2 139 175 1.41
30216 80 140 28.25 26 22 2.5 160 200 1.72
30217 85 150 30.5 28 24 2.5 183 232 2.14
30218 90 160 32.5 30 26 2.5 208 267 2. 66
30219 95 170 34.5 32 27 3 226 290 3.07
30220 100 180 37 34 29 3 258 335 3.78
30221 105 190 39 36 30 3 287 380 4.39
30222 110 200 41 38 32 3 325 435 5. 18
30224 120 215 43.5 40 34 3 345 470 6. 23
30226 130 230 43.75 40 34 4 375 505 7.25
30303 17 47 15. 25 14 12 1 28.9 26.3 0. 134
30304 20 52 16. 25 15 13 1.5 35.5 34 0. 160
30305 25 62 18.25 17 15 1.5 48.5 47.5 0.272
30306 30 72 20.75 19 16 1.5 60 61 0. 408
30307 35 80 22.75 21 18 2 5 T 0. 540
30308 40 90 25. 25 23 20 2 91.5 102 0. 769
30309 45 100 27. 25 25 22 2 111, 126 1101
30310 50 110 29. 25 27 23 2.5 133 152 1.31
30311 55 120 31.5 29 25 2:5 155 179 1. 66
30312 60 130 33.5 31 22 3 180 210 2.06
30313 65 140 36 33 28 3 203 238 2.55
30314 70 150 38 35 30 3 230 272 3.06
30315 15 160 40 37 31 3 209 305 3.57
30316 80 170 42.5 39 33 3 291 350 4. 41
30317 85 180 44.5 41 34 4 305 365 5. 20
30318 90 190 46.5 43 36 4 335 405 6.03
30319 95 200 49.5 45 38 4 365 445 6. 98
_________________________________________________________________________________ MDD aH+— Ht s www.ok-bearing.com

47>



FKD

BEARING

FKD

BEARING

ME -t

CHINA-HEBEI

ME - ot

CHINA-HEBEI

e B D N S (mm) E. N .@’1 fif i
) Boundary dimensions Basic load ratings (KN) Weight
fosndny Lo d D T B (o] rsmin Cr Cor kg
32005 25 47 15 15 11.5 0.6 27.8 33.5 0.114
32006 30 55 17 4.7 13 1 STuD 46 0. 166
32007 35 62 18 18 14 1 41.5 52:5 0.224
32008 40 68 19 19 14.5 1 50 65. 5 0.273
32009 45 75 20 20 15..5 1 57.5 765 0. 346
32010 50 80 20 20 155 1 62:8 88 0. 366 o MR
32011 a5 90 23 23 175 1.5 80. 5 118 0. 563
32012 60 95 23 23 17.5 L5 82 123 0. 576 ® AR o K&
32013 65 100 23 28 175 1: 8 83 128 0. 630 5 B e E R BB K S
32014 70 110 25 25 19 1.5 105 160 0. 848 R " °
52018 75 115 25 25 19 1.5 106 167 0. 909 5 LA i) W i 7
32016 80 125 29 29 22 1.5 139 216 1.28 ° 915?'”6
J2017 85 130 29 29 22 1:5 142 224 1.35
32018 90 140 32 32 24 2 168 270 1.79
32019 95 145 32 32 24 2 171 280 1.83
32020 100 150 22 32 24 2 170 281 1.91
32021 105 160 35 35 26 2.5 201 335 2.42
32022 110 170 38 38 29 2.5 236 390 3.07
32205 25 52 19.25 18 16 1 42 47 0. 187 €3 SHANGHAI
32206 30 62 21.25 20 17 1 54.5 64 0. 301 o i
3207 35 72 24. 25 23 19 1.5 72.5 87 0. 457
32208 40 80 24.75 23 19 1.5 79.5 93.5 0. 558
32209 45 85 24.75 23 19 1.5 82 100 0. 607
32210 50 90 24.75 23 19 1.5 87.5 109 0. 648
S22 55 100 26. 75 25 21 2 108 134 0. 876 }
32212 60 110 29.75 28 24 2 130 164 1. 18 26 e s
32213 65 120 32.75 3l 27 2 159 206 1.58
32214 70 125 33.25 31 27 2 166 220 1. 68 I:F .
22215 75 130 33.25 31 27 2 168 224 1.74 ° HT :g{%
B2 80 140 30: 29 33 28 2.5 199 265 2.18 Wi
o221 85 150 38.5 36 30 2.5 224 300 2.75 Tﬁ
BAES 90 160 42.5 60 34 2:5 262 360 3.49 iﬁ ki
J2219 95 170 45.5 43 37 3 299 415 4. 30
32220 100 180 49 46 39 8 330 465 5.12
32305 25 62 25. 25 24 20 1.5 61.5 64. 5 0. 381
32306 30 72 28.75 27 23 1.5 81 90 0. 583
32307 35 80 32.75 31 25 2 101 115 0. 787 .
32308 40 90 35. 25 33 27 2 122 150 1. 08 A
32309 45 100 38. 25 36 30 2 154 191 1. 46
32310 50 110 42.25 40 33 2.5 184 232 1.92
33 LL 55 120 45.5 43 35 2.5 215 275 2.44
32312 60 130 48.5 46 37 8 244 315 3.02
BB 65 140 51 48 39 3 273 350 3. 66
32314 70 150 54 51 42 3 310 405 4. 46
BRI 75 160 58 55 45 3 355 470 5. 35
32316 80 170 61.5 58 48 3 395 525 6. 41
BY SN 85 180 63.5 60 49 4 405 5925 7: 15
32318 90 190 67.5 64 53 4 450 595 8.75
32319 95 200 71.5 67 55 4 505 670 10. 10
32320 100 215 77.5 73 60 4 570 770 12. 7
ol 105 225 81.5 7 63 4 610 825 14.5

<48 AFB s % & # & #h K % 4 4 & @ B %+— Fut www.ok-bearing.com




